BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated | HATCHE | A R HATCH 27.0 RY | 0002 | Egg Take Shipping Received Planted | Total # 135,000 | Total Pounds 9,000 | |
|---|-------------|----------------------|-----------------|---|---------------------------|----------------------|------------|
| Estimated Brood D Egg Take Goal | <u>lata</u> | | | | | | |
| Estimated Transfer | r Data | | | | | | |
| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
| Shipped | 11/2024 | 11/2024 | DEEP R NET PENS | 135,000 | 15.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|
| | | | | | | | | |

Memo: Program implementation is dependent on legal authority and funding. May backfill with Cowlitz or Lewis Stock.

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Can Taka | | |
| Run: | Type N | Egg Take | | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | 850,000 | 28,333 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage | |
|---------------------|------------|----------|----------|--------------|------------|--------------|------|---------------------|------------|-------|
| Shipped | 01/2024 | 01/2024 | WASH | DUGAL HATCHE | RY | 450,000 | 30.0 | 15,000 | EGGS EYE | D |
| Shipped | 10/2024 | 10/2024 | DEEP R | R NET PENS | | 400,000 | 30.0 | 13,333 | JUVENILE | , |
| Estimated Release | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Гуре Т | agged |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Shipped or Received Sta | rt Date End Date Facility | Number F | PP Total Pounds | Life Stage |
|-------------------------|---------------------------|----------|--|--------------|
| Estimated Transfer D | ata | | | |
| Egg Take Goal | | | | |
| Estimated Brood Data | <u>L</u> | | | |
| Integrated/Segregated: | INTEGRATED | Plantee | 225,000 | 15,000 |
| Brood Origin: | MIXED | Receive | ed | |
| Stock: | ELOCHOMAN R 25.0236 | Shippir | g | |
| Run: | Type N | Egg Tal | ke in the second se | |
| Species: | Coho | | Total # | Total Pounds |
| Brood Year: | 2023 | | | |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------------|
| 04/2025 | 04/2025 | 180,000 | 15.0 | 12,000 | JUVENILE | BEAVER CR 25.0247 | AD | |
| 04/2025 | 04/2025 | 45,000 | 15.0 | 3,000 | JUVENILE | BEAVER CR 25.0247 | AD | \checkmark |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|-------------------------|-----------------|----------|---------|--------------|
| Species: | Chum | Egg Take | 340,000 | |
| Run: | NA | | | |
| Stock: | GRAYS R 25.0093 | Shipping | 40,000 | 0 |
| Brood Origin: | MIXED | Received | | |
| Integrated/Segregated: | INTEGRATED | Planted | 250,000 | 556 |
| integrated, segregated. | | Planted | 250,000 | 556 |

Estimated Brood Data

Egg Take Goal 340,000

Estimated Transfer Data

| Shipped or Received Start Date End Date | | End Date | Facility Numb | | FPP | Total Pounds | Life Stage | |
|---|---------|----------|------------------|--------|-----|---------------------|------------|--|
| Shipped | 11/2024 | 11/2024 | PETERSON PROJECT | 40,000 | | 0 | EGGS EYED | |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-----------------|-----------|--------|
| 03/2025 | 04/2025 | 250,000 | 450.0 | 556 | JUVENILE | GRAYS R 25.0093 | ОТ | |

Memo: Program implementation is dependent on legal authority and funding. Part of restoration/conservation program for lower Columbia River chum.

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------|----------|---------|--------------|
| Species: | Chinook | | | |
| Run: | Fall | Egg Take | | |
| Stock: | BONNEVILLE | Shipping | 500,000 | 3,333 |
| Brood Origin: | HATCHERY | Received | 550,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage | |
|---------------------|------------|----------|----------|---------------|------------|--------------|-------|--------------|------------|--------|
| Received | 10/2024 | 10/2024 | BONNEV | /ILLE HATCHER | 550,000 | | 0 | EGGS EY | ED | |
| Shipped | 05/2025 | 05/2025 | BONNEV | /ILLE HATCHER | 500,000 | 150.0 | 3,333 | JUVENIL | Έ | |
| Estimated Release | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |

Memo: Program implementation is dependent on legal authority and funding. 100K AD+CWT shipped to Bonneville Hatchery.

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Chinook | Fag Taka | | |
| Run: | Spring | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | 270,000 | 10,500 |
| Brood Origin: | HATCHERY | Received | 400,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage | | |
|------------------------|------------|----------|-----------------------|----------------------|------|---------------------|-------------|--|--|
| Received | 09/2024 | 09/2024 | KALAMA FALLS HATCHERY | 400,000 | | 0 | EGGS GREEN | | |
| Shipped | 04/2025 | 05/2025 | DEEP R NET PENS | 135,000 | 90.0 | 1,500 | JUVENILE | | |
| Shipped | 11/2025 | 11/2025 | DEEP R NET PENS | 135,000 | 15.0 | 9,000 | JUVENILE | | |
| Estimated Release Data | | | | | | | | | |
| Start Date End Dat | e Num Re | lease | FPP Total Pounds Lif | e Stage Release Site | | Mark | Type Tagged | | |

Memo: Program implementation is dependent on legal authority and funding. May backfill with Cowlitz or Lewis Stock.

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Egg Tako | 050.000 | |
| Run: | Type N | Egg Take | 950,000 | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | 850,250 | 13,333 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal 950,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stag | ge |
|------------------------|------------|----------|----------|---------------|---------------|--------------|------|---------------------|-----------|--------|
| Shipped | 01/2025 | 01/2025 | JULIUS | A WENDT ELEM | IENTARY SCHOO | L 250 | | 0 | EGGS E | EYED |
| Shipped | 01/2025 | 01/2025 | WASHC | DUGAL HATCHEI | RY | 450,000 | | 0 | EGGS E | EYED |
| Shipped | 10/2025 | 10/2025 | DEEP R | NET PENS | | 400,000 | 30.0 | 13,333 | JUVEN | ILE |
| Estimated Release Data | | | | | | | | | | |
| Start Date End Dat | e Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Coho | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: Run: | Type N | | Egg Take | 350,000 | |
| Stock: | ELOCHOMAN R 25.0236 | | Shipping | | |
| Brood Origin: | MIXED | | Received | | |
| Integrated/Segregated: | INTEGRATED | | Planted | 225,000 | 15,000 |
| Estimated Brood Data | <u>1</u> | | | | |
| Egg Take Goal 350 | 000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------------|
| 04/2026 | 04/2026 | 180,000 | 15.0 | 12,000 | JUVENILE | BEAVER CR 25.0247 | AD | |
| 04/2026 | 04/2026 | 45,000 | 15.0 | 3,000 | JUVENILE | BEAVER CR 25.0247 | AD | \checkmark |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 33,500 | 2,233 |
| Integrated/Segregated: | SEGREGATED | Planted | 30,000 | 5,455 |

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|------|--------------|------------|
| Received | 11/2024 | 11/2024 | SKAMANIA HATCHERY | 33,500 | 15.0 | 2,233 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------------------|-----------|--------|
| 04/2025 | 04/2025 | 30,000 | 5.5 | 5,455 | JUVENILE | BEAVER CR RELEASES 25.0247 | AD | |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated: | 2024 Steelhead Winter BEAVER CR HATCHERY HATCHERY SEGREGATED | | Egg Take Shipping Received Planted | Total # 130,000 | Total Pounds |
|--|---|--------|---|---------------------------|--------------|
| Estimated Brood Dat Egg Take Goal | <u>a</u> | | | | |
| Estimated Transfer D Shipped or Received St | <u>ata</u> art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|--------------|------------|----------------------------|-----------|--------|
| 04/2025 | 04/2025 | 130,000 | 5.5 | 23,636 | JUVENILE | BEAVER CR RELEASES 25.0247 | AD | |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 33,500 | 2,233 |
| Integrated/Segregated: | SEGREGATED | Planted | 30,000 | 5,455 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|------|--------------|------------|
| Received | 11/2025 | 11/2025 | SKAMANIA HATCHERY | 33,500 | 15.0 | 2,233 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------------------|-----------|--------|
| 04/2026 | 05/2026 | 30,000 | 5.5 | 5,455 | JUVENILE | BEAVER CR RELEASES 25.0247 | AD | |

BEAVER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | Γ | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Steelhead | | gg Take | 300,000 | |
| Run: | Winter | | ggiake | 500,000 | |
| Stock: | BEAVER CR HATCHERY | S | Shipping | | |
| Brood Origin: | HATCHERY | F | Received | | |
| Integrated/Segregated: | SEGREGATED | Ł | Planted | 130,000 | 23,636 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal 300 | ,000 | | | | |
| Estimated Transfer D | ata_ | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------------------|-----------|--------|
| 04/2026 | 05/2026 | 130,000 | 5.5 | 23,636 | JUVENILE | BEAVER CR RELEASES 25.0247 | AD | |

BONNEVILLE HATCHERY

INTERAGENCY PROJECTS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | | | |
| Run: | Fall | Egg Take | | |
| Stock: | LTL WHITE SALMON-NFH | Shipping | | |
| Brood Origin: | HATCHERY | Received | 2,480,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |
| Future discusting | | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Sta | ge |
|---------------------|---------------|----------|----------|---------------|------------|--------------|-----|---------------------|----------|--------|
| Received | 10/2024 | 12/2024 | LTL WH | ITE SALMON NF | Ή | 2,480,000 | | 0 | EGGS (| GREEN |
| | | | | | | | | | | |
| Estimated Releas | <u>e Data</u> | | | | | | | | | |
| Start Date End Da | te Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Гуре | Tagged |

Memo: Program implementation is dependent on legal authority and funding. Received from Little White Salmon NFH

BONNEVILLE HATCHERY

INTERAGENCY PROJECTS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|--------------------|----------|-----------|--------------------|
| Species: | Chinook | | | Total Total danage |
| Run: | Fall | Egg Take | | |
| Stock: | PRIEST RAPIDS (36) | Shipping | 4,720,000 | 38,127 |
| Brood Origin: | MIXED | Received | 1,700,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage | |
|------------------------|------------|----------|----------|----------------|------------|--------------|-------|---------------------|------------|----|
| Received | 11/2024 | 11/2024 | RINGO | LD SPRINGS HAT | TCHERY | 1,700,000 | | 0 | EGGS GREEN | |
| Shipped | 04/2025 | 04/2025 | RINGO | LD SPRINGS HAT | TCHERY | 1,100,000 | 120.0 | 9,167 | JUVENILE | |
| Shipped | 05/2025 | 05/2025 | RINGO | LD SPRINGS HAT | TCHERY | 3,620,000 | 125.0 | 28,960 | JUVENILE | |
| Estimated Release Data | | | | | | | | | | |
| Start Date End Dat | e Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Type Tagge | ed |

BONNEVILLE HATCHERY

INTERAGENCY PROJECTS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------|----------|-----------|--------------|
| Species: | Chinook | | | |
| Run: | Fall | Egg Take | | |
| Stock: | BONNEVILLE | Shipping | 2,550,000 | 0 |
| Brood Origin: | HATCHERY | Received | 2,300,000 | 15,333 |
| Integrated/Segregated: | SEGREGATED | Planted | 2,300,000 | 15,333 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or I | Received | Start Date | End Date | Facilit | у | | Number | FPP | Total Pounds | Life Stag | ge |
|------------------|-----------|------------|----------|---------|---------------------|------------|--------------|-------|--------------|-----------|--------------|
| Shipped | | 10/2024 | 10/2024 | BEAV | BEAVER CR HATCHERY | | 550,000 | | 0 | EGGS E | EYED |
| Shipped | | 10/2024 | 10/2024 | KALA | AMA FALLS HATC | HERY | 2,000,000 | | 0 | EGGS I | EYED |
| Received | | 05/2025 | 05/2025 | BONN | NEVILLE HATCHE | RY | 500,000 | 150.0 | 3,333 | JUVEN | ILE |
| Received | | 05/2025 | 05/2025 | BONN | BONNEVILLE HATCHERY | | 1,800,000 | 150.0 | 12,000 | JUVEN | ILE |
| Estimated | Release I | Data | | | | | | | | | |
| Start Date | End Date | Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |
| 05/2025 | 05/2025 | 2,100 | ,000 | 150.0 | 14,000 | JUVENILE | TANNER CR | | AD | | |
| 05/2025 | 05/2025 | 200 | ,000 | 150.0 | 1,333 | JUVENILE | TANNER CR | | AD | | \checkmark |

CAPTAIN STRONG ES(BG

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 150 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 125 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | LEWIS RIVER HATCHERY | 150 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|---------------------|-----------|--------|
| 04/2025 | 04/2025 | 125 | 1,500.0 | 0 | JUVENILE | LEWIS R -EF 27.0173 | | |

CARSON NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|---|---|----------------------------------|-----------|--------------|
| Species: Run: Stock: Brood Origin: Integrated/Segregated: | Chinook Spring WIND R 29.0023 HATCHERY SEGREGATED | Egg Take Shipping Received | | |
| Estimated Brood Data | | Planted | 1,520,000 | 84,444 |
| Estimated Transfer D | ata | | | |

| Shipped or Received Start Date End Date Facility Numbe | | Total Pounds | Life Stage | |
|--|--|--------------|------------|--|
|--|--|--------------|------------|--|

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------|-----------|--------------|
| 04/2025 | 04/2025 | 1,432,500 | 18.0 | 79,583 | JUVENILE | WIND R 29.0023 | AD | |
| 04/2025 | 04/2025 | 87,500 | 18.0 | 4,861 | JUVENILE | WIND R 29.0023 | AD | \checkmark |

Memo: On-station yearling release.

CARSON NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------|-----------|-----------|----------------|
| Species: | Chinook | Fee Teles | | Total Total as |
| Run: | Spring | Egg Take | 2,700,000 | |
| Stock: | WIND R 29.0023 | Shipping | 750,300 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 1,520,000 | 84,444 |

Estimated Brood Data

Egg Take Goal 2,700,000

Estimated Transfer Data

| Shipped or | Received | Start Date | End Date | Facilit | y | | Nu | mber | FPP | Total Pounds | Life Sta | age |
|------------------|----------|-------------|----------|---------|---------------------|------------|-------------|---------|-----|--------------|----------|--------------|
| Shipped | | 10/2024 | 10/2024 | CARS | ON ES (STEVENSO | ON | | 300 | | 0 | EGGS | EYED |
| Shipped | | 10/2024 | 10/2024 | LYON | IS FERRY HATCH | ERY | 25 | 0,000 | | 0 | EGGS | GREEN |
| Shipped | | 10/2024 | 10/2024 | SF W. | ALLA WALLA | | 50 | 0,000 | | 0 | EGGS | GREEN |
| Estimated | Release | <u>Data</u> | | | | | | | | | | |
| Start Date | End Date | Num Re | lease | FPP | Total Pounds | Life Stage | Release Sit | te | | Mark | Туре | Tagged |
| 04/2026 | 04/2026 | 1,432 | 2,500 | 18.0 | 79,583 | JUVENILE | WIND R | 29.0023 | | AD | | |
| 04/2026 | 04/2026 | 87 | ,500 | 18.0 | 4,861 | JUVENILE | WIND R | 29.0023 | | AD | | \checkmark |

Memo: On-station yearling release.

CASTLE ROCK HS (CAST

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Coho | Cas Taka | | |
| Run: | Type N | Egg Take | | |
| Stock: | COWLITZ R 26.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 100 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 75 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received Start Date End Date | | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---|---------|----------|-------------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | COWLITZ SALMON HATCHERY | 100 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 04/2025 | 75 | 500.0 | 0 | JUVENILE | COWLITZ R 26.0002 | | |

CITY OF VANCOUVER

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | Type N | | | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | | |
| Brood Origin: | MIXED | Received | 250 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 200 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|--------------|------------|
| Received | 01/2025 | 01/2025 | WASHOUGAL HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 11/2025 | 11/2025 | 200 | 500.0 | 0 | JUVENILE | SALMON CR 28.0059 | | |

CLARK COUNTY PUD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Coho | I | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 46,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 46,000 | 31 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | LEWIS RIVER HATCHERY | 46,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|-------------------|-----------|--------|
| 03/2025 | 03/2025 | 46,000 | 1,500.0 | 31 | JUVENILE | SALMON CR 28.0059 | | |

Memo: Program implementation is dependent on legal authority and funding. McNab, Sorenson, Hoaa, Kinney, Roscoe, and Orander projects.

COLUMBIA SPRINGS COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | | |
| Brood Origin: | MIXED | Received | 540 | 1 |
| Integrated/Segregated: | INTEGRATED | Planted | 540 | 1 |
| Estimated Brood Date | | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-------|--------------|------------|
| Received | 10/2024 | 10/2024 | WASHOUGAL HATCHERY | 540 | 800.0 | 1 | JUVENILE |

COLUMBIA SPRINGS COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | I | | |
| Run: | Type N | Egg Take | | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | | |
| Brood Origin: | MIXED | Received | 540 | 1 |
| Integrated/Segregated: | INTEGRATED | Planted | 540 | 1 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------------|-----------|--------|
| 12/2024 | 12/2024 | 70 | 500.0 | 0 | JUVENILE | BURNT BRIDGE CR (28) | | |
| 12/2024 | 12/2024 | 30 | 500.0 | 0 | JUVENILE | GEE CR 27.0168 | | |
| 12/2024 | 12/2024 | 30 | 500.0 | 0 | JUVENILE | LACAMAS CR 28.0160 | | |
| 12/2024 | 12/2024 | 30 | 500.0 | 0 | JUVENILE | LEWIS R TRIBS | | |
| 12/2024 | 12/2024 | 10 | 500.0 | 0 | JUVENILE | MILL CR 27.0144 | | |
| 12/2024 | 12/2024 | 20 | 500.0 | 0 | JUVENILE | MORGAN CR 28.0093 | | |
| 12/2024 | 12/2024 | 10 | 500.0 | 0 | JUVENILE | ROCK CR 27.0222 | | |
| 12/2024 | 12/2024 | 320 | 500.0 | 1 | JUVENILE | SALMON CR 28.0059 | | |
| 12/2024 | 12/2024 | 10 | 500.0 | 0 | JUVENILE | WASHOUGAL R 28.0159 | | |
| 12/2024 | 12/2024 | 10 | 500.0 | 0 | JUVENILE | WHIPPLE CR 28.0038 | | |

COLUMBIA SPRINGS COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------------|----------|---------|--------------|
| Species: | | Egg Take | | |
| Run: Stock: | Type N LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 14,500 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 11,000 | 6 |
| Estimated Brood Data | <u>1</u> | | | |
| Egg Take Goal | | | | |

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|--------------|------------|
| Received | 01/2025 | 01/2025 | LEWIS RIVER HATCHERY | 14,500 | | 0 | EGGS EYED |

Memo: Program implementation is dependent on legal authority and funding. Eggs provided to approximately 50 school groups. Releases are grouped by site.

COLUMBIA SPRINGS COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 14,500 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 11,000 | 6 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|----------------------|-----------|--------|
| 04/2025 | 04/2025 | 1,200 | 1,500.0 | 1 | JUVENILE | BURNT BRIDGE CR (28) | | |
| 04/2025 | 04/2025 | 200 | 1,500.0 | 0 | JUVENILE | GEE CR 27.0168 | | |
| 04/2025 | 04/2025 | 400 | 1,500.0 | 0 | JUVENILE | LACAMAS CR 28.0160 | | |
| 04/2025 | 04/2025 | 200 | 1,500.0 | 0 | JUVENILE | LEWIS R 27.0168 | | |
| 04/2025 | 04/2025 | 600 | 1,500.0 | 0 | JUVENILE | LEWIS R TRIBS | | |
| 04/2025 | 04/2025 | 200 | 1,500.0 | 0 | JUVENILE | MILL CR 29.0168 | | |
| 04/2025 | 04/2025 | 400 | 1,500.0 | 0 | JUVENILE | MORGAN CR 28.0093 | | |
| 04/2025 | 04/2025 | 200 | 1,500.0 | 0 | JUVENILE | ROCK CR 27.0222 | | |
| 04/2025 | 04/2025 | 7,000 | 1,500.0 | 5 | JUVENILE | SALMON CR 28.0059 | | |
| 04/2025 | 04/2025 | 400 | 1,500.0 | 0 | JUVENILE | WASHOUGAL R 28.0159 | | |
| 04/2025 | 04/2025 | 200 | 1,500.0 | 0 | JUVENILE | WHIPPLE CR 28.0038 | | |

Memo: Program implementation is dependent on legal authority and funding. Eggs provided to approximately 50 school groups. Releases are grouped by site.

COLUMBIA SPRINGS COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | | |
| Brood Origin: | MIXED | Received | 540 | 1 |
| Integrated/Segregated: | INTEGRATED | Planted | 540 | 1 |
| Estimated Broad Date | | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-------|--------------|------------|
| Received | 10/2025 | 10/2025 | WASHOUGAL HATCHERY | 540 | 800.0 | 1 | JUVENILE |

COLUMBIA SPRINGS COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|----------------|
| Species: | Coho | | | Total Total of |
| Run: | Type N | Egg Take | | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | | |
| Brood Origin: | MIXED | Received | 540 | 1 |
| Integrated/Segregated: | INTEGRATED | Planted | 540 | 1 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------------|-----------|--------|
| 12/2025 | 12/2025 | 70 | 500.0 | 0 | JUVENILE | BURNT BRIDGE CR (28) | | |
| 12/2025 | 12/2025 | 30 | 500.0 | 0 | JUVENILE | GEE CR 27.0168 | | |
| 12/2025 | 12/2025 | 30 | 500.0 | 0 | JUVENILE | LACAMAS CR 28.0160 | | |
| 12/2025 | 12/2025 | 30 | 500.0 | 0 | JUVENILE | LEWIS R TRIBS | | |
| 12/2025 | 12/2025 | 10 | 500.0 | 0 | JUVENILE | MILL CR 27.0144 | | |
| 12/2025 | 12/2025 | 20 | 500.0 | 0 | JUVENILE | MORGAN CR 28.0093 | | |
| 12/2025 | 12/2025 | 10 | 500.0 | 0 | JUVENILE | ROCK CR 27.0222 | | |
| 12/2025 | 12/2025 | 320 | 500.0 | 1 | JUVENILE | SALMON CR 28.0059 | | |
| 12/2025 | 12/2025 | 10 | 500.0 | 0 | JUVENILE | WASHOUGAL R 28.0159 | | |
| 12/2025 | 12/2025 | 10 | 500.0 | 0 | JUVENILE | WHIPPLE CR 28.0038 | | |

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Species: Chinook Total # Spring Egg Take Stock: COWLITZ SALMON HATCHERY Shipping Brood Origin: HATCHERY Received | Total Pounds |
|--|--------------|
| Kun: Spring Stock: COWLITZ SALMON HATCHERY | |
| | |
| Brood Origin: HATCHERY Beceived | |
| hetered hetered | |
| Integrated/Segregated: SEGREGATED Planted 1,738,529 | 229,372 |
| Estimated Brood Data | 1 |
| Egg Take Goal | |

| Shipped or Received Start Date End Date Facility N | lumber | FPP | Total Pounds | Life Stage | |
|--|--------|-----|---------------------|------------|--|
|--|--------|-----|---------------------|------------|--|

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------------|
| 12/2024 | 12/2024 | 100,000 | 12.0 | 8,333 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |
| 12/2024 | 12/2024 | 400,000 | 12.0 | 33,333 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 03/2025 | 03/2025 | 100,000 | 8.0 | 12,500 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |
| 03/2025 | 03/2025 | 700,000 | 8.0 | 87,500 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 04/2025 | 04/2025 | 338,529 | 5.0 | 67,706 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 04/2025 | 04/2025 | 100,000 | 5.0 | 20,000 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Release in April provided fish rearing parameters are met for all spec. Beaver Creek included in Egg Take Goal. For Beaver Creek transfer Kalama and Lewis stock may be used as backfill.

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Coho | | Egg Take | | |
| Run: | Type N | | | | |
| Stock: | COWLITZ SALMON HATCHERY | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 1,200,000 | 80,000 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 05/2025 | 1,200,000 | 15.0 | 80,000 | JUVENILE | COWLITZ R 26.0002 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 5/1. Egg take for Cooperatives as late as possible.

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Chinach | | | | Total # | Total Pounds |
|-------------------------|----------------------|--------|--------|----------|--------------|--------------|
| Species: Run: | Chinook Fall | | | Egg Take | 4,200,000 | |
| Stock: | COWLITZ R 26.0002 | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 3,500,000 | 43,751 |
| Estimated Brood Data | <u>l</u> | | | | | |
| Egg Take Goal4,20 | 0,000 | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | rt Date End Date Fac | cility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 05/2025 | 06/2025 | 125,000 | 80.0 | 1,563 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 05/2025 | 06/2025 | 3,375,000 | 80.0 | 42,188 | JUVENILE | COWLITZ R 26.0002 | AD | |

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Chinook | | Egg Take | 2,118,000 | |
| Run: | Spring | | | _,, | |
| Stock: | COWLITZ SALMON HATCHERY | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 1,678,000 | 223,291 |
| Estimated Brood Dat | <u>a</u> | | | , | |
| Egg Take Goal 2,12 | 8,000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------------|
| 12/2025 | 12/2025 | 475,000 | 12.0 | 39,583 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 12/2025 | 12/2025 | 100,000 | 12.0 | 8,333 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |
| 03/2026 | 03/2026 | 100,000 | 8.0 | 12,500 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |
| 03/2026 | 03/2026 | 503,000 | 8.0 | 62,875 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 04/2026 | 04/2026 | 400,000 | 5.0 | 80,000 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 04/2026 | 04/2026 | 100,000 | 5.0 | 20,000 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Release in April provided fish rearing parameters are met for all spec. Beaver Creek included in Egg Take Goal. For Beaver Creek transfer Kalama and Lewis stock may be used as backfill.

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | 5,000 | |
| Run: | Type N | | | |
| Stock: | COWLITZ SALMON HATCHERY | Shipping | 2,350 | 10 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal 5,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------------|--------|-------|--------------|------------|
| Shipped | 01/2025 | 01/2025 | CASTLE ROCK HS (CAST | 100 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | EVALINE SD (WINLOCK) | 250 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | LEXINGTON ELEMENTARY SCHOOL | 250 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | LONGVIEW SD 122 (LON | 250 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | MOSSYROCK ES(MOSSYRO | 250 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | WHITE PASS JHS HS(RA | 250 | | 0 | EGGS EYED |
| Shipped | 06/2025 | 06/2025 | KRAUS RYDERWOOD PROJ | 1,000 | 100.0 | 10 | JUVENILE |

Memo: Program implementation is dependent on legal authority and funding. Release 5/1. Egg take for Cooperatives as late as possible.

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | 2024 | | | | | | Total Pounds |
|------------------------|------------------|----------|--------------|------------|--------------|----------|---------|--------------|
| Species: | Coho | | | | | Egg Take | 5,000 | |
| Run: | Туре N | | | | | | | 10 |
| Stock: | COWLITZ SALMON I | HATCHERY | | | | Shipping | 2,350 | 10 |
| Brood Origin: | HATCHERY | | | | | Received | | |
| Integrated/Segregated: | SEGREGATED | | | | | Planted | | |
| Estimated Release Da | ata | | | | | L | | |
| Start Date End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | | Mark Ty | pe Tagged |

Memo: Program implementation is dependent on legal authority and funding. Release 5/1. Egg take for Cooperatives as late as possible.

COWLITZ SALMON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | Total # | Total Pounds |
|-------------------------|-------------------|----------|--------|----------|--------------|--------------|
| Species: | Coho | | | | 2 750 066 | |
| Run: | Type N | | | Egg Take | 2,759,066 | |
| Stock: | COWLITZ R -UPPER | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 2,200,000 | 146,666 |
| Estimated Brood Data | <u>a</u> | | | L | - I | |
| Egg Take Goal 2,75 | 9,066 | | | | | |
| Estimated Transfer D | <u>ata</u> | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------------|
| 04/2026 | 05/2026 | 2,000,000 | 15.0 | 133,333 | JUVENILE | COWLITZ R 26.0002 | AD | |
| 04/2026 | 05/2026 | 200,000 | 15.0 | 13,333 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|---------|--------------|--------------|
| Species: | Cutthroat | Fo | gg Take | | |
| Run: | Anadromous Coastal | | | | |
| Stock: | COWLITZ R 26.0002 | St | nipping | | |
| Brood Origin: | HATCHERY | Re | eceived | | |
| Integrated/Segregated: | SEGREGATED | PI | lanted | 90,500 | 22,625 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 05/2025 | 90,500 | 4.0 | 22,625 | JUVENILE | COWLITZ R 26.0002 | AD | |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | | Total Pounds |
|------------------------|----------------------|----------|--------|----------|--------------|--------------|
| Species: | pecies: Steelhead | | | | | |
| Run: Summer | | | | | | |
| Stock: | COWLITZ SAL HATCHERY | | | Shipping | | |
| Brood Origin: | HATCHERY | | | Received | | |
| Integrated/Segregated: | SEGREGATED | | | Planted | 650,000 | 118,182 |
| Estimated Brood Dat | <u>a</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received St | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 05/2025 | 650,000 | 5.5 | 118,182 | JUVENILE | COWLITZ R 26.0002 | AD | |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Run: Stock: Brood Origin: Integrated/Segregated: | Winter-Late COWLITZ R -LOWER HATCHERY SEGREGATED | | | Egg Take Shipping Received Planted | 308,500 | 44,071 |
|---|---|----------|-------|---|--------------|------------|
| Estimated Brood Data Egg Take Goal | <u>l</u> | | | | | |
| Estimated Transfer Da Shipped or Received Sta | a <u>ta</u> Irt Date End Date | Facility | Numbe | r FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 05/2025 | 308,500 | 7.0 | 44,071 | JUVENILE | COWLITZ R 26.0002 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Fish excess to program goals will be planted to non-anadromous waters.

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | Total # | Total Pounds |
|-------------------------|-------------------|----------|--------|----------|--------------|--------------|
| Species: | Steelhead | | | Egg Tako | | |
| Run: | Winter-Late | | | Egg Take | | |
| Stock: | COWLITZ R -UPPER | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 236,000 | 33,714 |
| Estimated Brood Data | <u>a</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------------|
| 04/2025 | 05/2025 | 236,000 | 7.0 | 33,714 | JUVENILE | COWLITZ R 26.0002 | AD | \checkmark |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Staallaasd | | Total # | Total Pounds |
|------------------------|----------------------------|------------|-----------------------|--------------|
| Species: | Steelhead | Egg Take | | |
| Run: | Winter-Late | | | |
| Stock: | TILTON R 26.0560 | Shipping | | |
| Brood Origin: | MIXED | Received | I | |
| Integrated/Segregated: | INTEGRATED | Planted | 100,000 | 14,286 |
| Estimated Brood Dat | <u>a</u> | | | |
| Egg Take Goal | | | | |
| Estimated Transfer D | ata | | | |
| Shipped or Received St | art Date End Date Facility | Number FPF | P Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 05/2025 | 100,000 | 7.0 | 14,286 | JUVENILE | COWLITZ R 26.0002 | AD+LV | |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Cutthroat | | Egg Take | 184,000 | |
| Run: | Anadromous Coastal | | Lgg Take | 104,000 | |
| Stock: | COWLITZ R 26.0002 | 5 | Shipping | | |
| Brood Origin: | HATCHERY | F | Received | | |
| Integrated/Segregated: | SEGREGATED | ł | Planted | 90,500 | 22,625 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal 184 | ,000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2026 | 05/2026 | 90,500 | 4.0 | 22,625 | JUVENILE | COWLITZ R 26.0002 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/1 to 5/15.

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Steelhead | | Egg Take | 884,000 | |
| Run: | Summer | | | 884,000 | |
| Stock: | COWLITZ SAL HATCHERY | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 650,000 | 118,182 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal 884 | ,000 | | | | |
| Estimated Transfer D | <u>ata</u> | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2026 | 05/2026 | 650,000 | 5.5 | 118,182 | JUVENILE | COWLITZ R 26.0002 | AD | |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Steelhead | | Egg Take | 734,000 | |
| Run: | Winter-Late | | | | |
| Stock: | COWLITZ R -LOWER | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 308,500 | 44,071 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal 734 | ,000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2026 | 05/2026 | 308,500 | 7.0 | 44,071 | JUVENILE | COWLITZ R 26.0002 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Fish excess to program goals will be planted to non-anadromous waters.

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: | Steelhead | | Egg Take | 326,300 | |
| Run: | Winter-Late | | Eggiake | 520,500 | |
| Stock: | COWLITZ R -UPPER | | Shipping | | |
| Brood Origin: | MIXED | | Received | | |
| Integrated/Segregated: | INTEGRATED | | Planted | 236,000 | 33,714 |
| Estimated Brood Data | <u>a</u> | | | | , |
| Egg Take Goal 326 | 300 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received Sta | art Date End Date Facilit | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2026 | 05/2026 | 236,000 | 7.0 | 33,714 | JUVENILE | COWLITZ R 26.0002 | AD | |

COWLITZ TROUT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 Staallaard | | | Total # | Total Pounds |
|------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: Run: | Steelhead Winter-Late | | Egg Take | 130,124 | |
| Stock: | TILTON R 26.0560 | | Shipping | | |
| Brood Origin: | MIXED | | Received | | |
| Integrated/Segregated: | INTEGRATED | | Planted | 100,000 | 14,286 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal 130 | 124 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | art Date End Date Facilit | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2026 | 05/2026 | 100,000 | 7.0 | 14,286 | JUVENILE | COWLITZ R 26.0002 | AD+LV | |

DEEP R NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Chinook | EggTako | | |
| Run: | Spring | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 135,000 | 9,000 |
| Integrated/Segregated: | SEGREGATED | Planted | 125,000 | 10,417 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|------|--------------|------------|
| Received | 11/2024 | 11/2024 | BEAVER CR HATCHERY | 135,000 | 15.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------------|-----------|--------------|
| 11/2024 | 12/2024 | 125,000 | 12.0 | 10,417 | JUVENILE | COLUMBIA R - GENERAL | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. May backfill with Cowlitz or Lewis Stock.

DEEP R NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Fee Take | | |
| Run: | Type N | Egg Take | | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 750,000 | 25,000 |
| Integrated/Segregated: | SEGREGATED | Planted | 700,000 | 46,667 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|------|---------------------|------------|
| Received | 10/2024 | 10/2024 | BEAVER CR HATCHERY | 400,000 | 30.0 | 13,333 | JUVENILE |
| Received | 11/2024 | 11/2024 | WASHOUGAL HATCHERY | 350,000 | 30.0 | 11,667 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------|-----------|--------------|
| 04/2025 | 04/2025 | 655,000 | 15.0 | 43,667 | JUVENILE | DEEP R 25.0071 | AD | |
| 04/2025 | 04/2025 | 45,000 | 15.0 | 3,000 | JUVENILE | DEEP R 25.0071 | AD | \checkmark |

DEEP R NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|-----------|---------|--------------|
| Species: | Chinook | Fee Teles | | |
| Run: | Spring | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 270,000 | 10,500 |
| Integrated/Segregated: | SEGREGATED | Planted | 250,000 | 12,500 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|------|--------------|------------|
| Received | 04/2025 | 05/2025 | BEAVER CR HATCHERY | 135,000 | 90.0 | 1,500 | JUVENILE |
| Received | 11/2025 | 11/2025 | BEAVER CR HATCHERY | 135,000 | 15.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------------|-----------|--------------|
| 05/2025 | 06/2025 | 125,000 | 60.0 | 2,083 | JUVENILE | COLUMBIA R - GENERAL | AD | |
| 11/2025 | 12/2025 | 125,000 | 12.0 | 10,417 | JUVENILE | COLUMBIA R - GENERAL | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. May backfill with Cowlitz or Lewis Stock.

DEEP R NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Faa Taka | | |
| Run: | Type N | Egg Take | | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 750,000 | 25,000 |
| Integrated/Segregated: | SEGREGATED | Planted | 700,000 | 46,667 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|------|--------------|------------|
| Received | 10/2025 | 10/2025 | BEAVER CR HATCHERY | 400,000 | 30.0 | 13,333 | JUVENILE |
| Received | 11/2025 | 11/2025 | WASHOUGAL HATCHERY | 350,000 | 30.0 | 11,667 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------|-----------|--------------|
| 04/2026 | 04/2026 | 655,000 | 15.0 | 43,667 | JUVENILE | DEEP R 25.0071 | AD | |
| 04/2026 | 04/2026 | 45,000 | 15.0 | 3,000 | JUVENILE | DEEP R 25.0071 | AD | \checkmark |

ECHO NP (LEWIS R-NF)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | MERWIN HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 63,000 | 9,000 |
| Integrated/Segregated: | SEGREGATED | Planted | 60,000 | 10,909 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------|--------|-----|--------------|------------|
| Received | 03/2025 | 03/2025 | MERWIN HATCHERY | 63,000 | 7.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 04/2025 | 05/2025 | 60,000 | 5.5 | 10,909 | JUVENILE | LEWIS R -NF 27.0168 | AD | |

ECHO NP (LEWIS R-NF)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | MERWIN HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 63,000 | 9,000 |
| Integrated/Segregated: | SEGREGATED | Planted | 60,000 | 10,909 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------|--------|-----|--------------|------------|
| Received | 03/2026 | 03/2026 | MERWIN HATCHERY | 63,000 | 7.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 04/2026 | 05/2026 | 60,000 | 5.5 | 10,909 | JUVENILE | LEWIS R -NF 27.0168 | AD | |

EVALINE SD (WINLOCK)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | COWLITZ SALMON HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 250 | 1 |

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | COWLITZ SALMON HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 04/2025 | 250 | 500.0 | 1 | JUVENILE | OLEQUA CR 26.0427 | | |

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Chinook | | | |
| Run: | Spring | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 520,000 | 20,800 |
| Integrated/Segregated: | SEGREGATED | Planted | 500,000 | 50,000 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|---------|------|--------------|------------|
| Received | 11/2024 | 12/2024 | KALAMA FALLS HATCHERY | 520,000 | 25.0 | 20,800 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|--------------------|-----------|--------------|
| 03/2025 | 03/2025 | 125,000 | 10.0 | 12,500 | JUVENILE | FALLERT CR 27.0017 | AD | \checkmark |
| 03/2025 | 03/2025 | 375,000 | 10.0 | 37,500 | JUVENILE | FALLERT CR 27.0017 | AD | |

Memo: Program implementation is dependent on legal authority and funding. May adjust release numbers between Fallert Creek and Kalama Falls, but the Kalama River goal will remain 500,000.

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|----------|-----------|--------------|
| Species: | Chinook | | | |
| Run: | Fall | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 2,900,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 2,600,000 | 32,500 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|-----------|-----|--------------|------------|
| Received | 12/2024 | 12/2024 | KALAMA FALLS HATCHERY | 2,900,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|--------------------|-----------|--------------|
| 05/2025 | 06/2025 | 2,400,000 | 80.0 | 30,000 | JUVENILE | FALLERT CR 27.0017 | AD | |
| 05/2025 | 06/2025 | 200,000 | 80.0 | 2,500 | JUVENILE | FALLERT CR 27.0017 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. May adjust release numbers between Kalama Falls and Fallert Creek, but the Kalama River goal will remain at 2,600,000.

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Chinook | | | |
| Run: | Spring | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 520,000 | 20,800 |
| Integrated/Segregated: | SEGREGATED | Planted | 500,000 | 50,000 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|---------|------|--------------|------------|
| Received | 11/2025 | 12/2025 | KALAMA FALLS HATCHERY | 520,000 | 25.0 | 20,800 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|--------------------|-----------|--------------|
| 03/2026 | 03/2026 | 125,000 | 10.0 | 12,500 | JUVENILE | FALLERT CR 27.0017 | AD | \checkmark |
| 03/2026 | 03/2026 | 375,000 | 10.0 | 37,500 | JUVENILE | FALLERT CR 27.0017 | AD | |

Memo: Program implementation is dependent on legal authority and funding. May adjust release numbers between Fallert Creek and Kalama Falls, but the Kalama River goal will remain 500,000.

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------|-------------------|---------|--------------|
| Species: | Steelhead | с. т . | | |
| Run: | Summer | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | | |
| Brood Origin: | WILD | Received | 100,000 | 4,000 |
| Integrated/Segregated: | INTEGRATED | Planted | 90,000 | 16,364 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|------|--------------|------------|
| Received | 11/2024 | 12/2024 | MOSSYROCK HATCHERY | 100,000 | 25.0 | 4,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------------|
| 04/2025 | 05/2025 | 40,000 | 5.5 | 7,273 | JUVENILE | FALLERT CR 27.0017 | AD | |
| 04/2025 | 05/2025 | 50,000 | 5.5 | 9,091 | JUVENILE | FALLERT CR 27.0017 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Program size will remain constant however transfers from Mossyrock and Kalama may vary annually due to results of fish health testing. FPP can range 5.5-8.

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|--------------|
| Species: | Steelhead | I | | Total Total |
| Run: | Winter-Late | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | | |
| Brood Origin: | WILD | Received | 54,000 | 1,543 |
| Integrated/Segregated: | INTEGRATED | Planted | 45,000 | 8,182 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|------|--------------|------------|
| Received | 11/2024 | 12/2024 | MOSSYROCK HATCHERY | 54,000 | 35.0 | 1,543 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------|
| 04/2025 | 05/2025 | 45,000 | 5.5 | 8,182 | JUVENILE | FALLERT CR 27.0017 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Fish excess to program may be planted in upland lakes. FPP can range from 5.5-8.

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | | |
| Brood Origin: | WILD | Received | 100,000 | 4,000 |
| Integrated/Segregated: | INTEGRATED | Planted | 90,000 | 16,364 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|------|--------------|------------|
| Received | 11/2025 | 12/2025 | MOSSYROCK HATCHERY | 100,000 | 25.0 | 4,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------------|
| 04/2026 | 05/2026 | 50,000 | 5.5 | 9,091 | JUVENILE | FALLERT CR 27.0017 | AD | \checkmark |
| 04/2026 | 05/2026 | 40,000 | 5.5 | 7,273 | JUVENILE | FALLERT CR 27.0017 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Program size will remain constant however transfers from Mossyrock and Kalama may vary annually due to results of fish health testing. FPP can range 5.5-8.

FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Winter-Late | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | | |
| Brood Origin: | WILD | Received | 54,000 | 1,543 |
| Integrated/Segregated: | INTEGRATED | Planted | 45,000 | 8,182 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|------|---------------------|------------|
| Received | 11/2025 | 12/2025 | MOSSYROCK HATCHERY | 54,000 | 35.0 | 1,543 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------|
| 04/2026 | 05/2026 | 45,000 | 5.5 | 8,182 | JUVENILE | FALLERT CR 27.0017 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Fish excess to program may be planted in upland lakes. FPP can range from 5.5-8.

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2020 | | | | Total # | Total Pounds |
|------------------------|----------------------|----------|--------|----------|---------------------|--------------|
| Species: | Rainbow | | | Egg Take | | |
| Run: | NA | | | | | |
| Stock: | SPRING CR-GOLDENDALE | | | Shipping | | |
| Brood Origin: | HATCHERY | | | Received | | |
| Integrated/Segregated: | | | | Planted | 700 | 7,000 |
| Estimated Brood Dat | <u>a</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received St | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. Backfill for Cassimer Bar 1 million eggs. Ship eggs to CBH 11/1 - 11/15 and 12/1 - 12/15.

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2020 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | с т. | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 700 | 7,000 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------|
| 11/2024 | 11/2024 | 96 | 0.1 | 960 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2024 | 11/2024 | 128 | 0.1 | 1,280 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2024 | 01/2025 | 103 | 0.1 | 1,030 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2024 | 01/2025 | 40 | 0.1 | 400 | BROODSTOCK | COWLITZ CO LAKES | | |
| 11/2024 | 01/2025 | 95 | 0.1 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2024 | 01/2025 | 148 | 0.1 | 1,480 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2024 | 01/2025 | 90 | 0.1 | 900 | BROODSTOCK | SKAMANIA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2021 Deinhaus | [| | Total # | Total Pounds |
|--|---|--------|----------|--------------|--------------|
| Species: Run: | Rainbow NA | | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | : | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | | | Planted | 2,350 | 15,635 |
| Estimated Brood Data Egg Take Goal | 1 | | | | |
| Estimated Transfer Da Shipped or Received Sta | <mark>ita</mark> rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. Backfill for Cassimer Bar 1 million eggs. Ship eggs to CBH 11/1 - 11/15 and 12/1 - 12/15.

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2021 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|---------------|
| Species: | Rainbow | с т. | | Total Totalus |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 2,350 | 15,635 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------------|-----------|--------|
| 07/2024 | 07/2024 | 200 | 0.3 | 667 | BROODSTOCK | TAKHLAKH LK (SKAM) | | |
| 11/2024 | 11/2024 | 164 | 0.2 | 965 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2024 | 11/2024 | 220 | 0.2 | 1,100 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2024 | 01/2025 | 150 | 0.2 | 750 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2024 | 01/2025 | 140 | 0.2 | 700 | BROODSTOCK | COWLITZ CO LAKES | | |
| 11/2024 | 01/2025 | 190 | 0.2 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2024 | 01/2025 | 221 | 0.2 | 1,300 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2024 | 01/2025 | 115 | 0.2 | 575 | BROODSTOCK | SKAMANIA CO LAKES | | |
| 04/2025 | 04/2025 | 100 | 0.1 | 769 | BROODSTOCK | HORSETHIEF LK (KLIC) | | |
| 04/2025 | 04/2025 | 90 | 0.1 | 692 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2025 | 05/2025 | 60 | 0.1 | 462 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2025 | 11/2025 | 96 | 0.1 | 960 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2025 | 11/2025 | 128 | 0.1 | 985 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2025 | 01/2026 | 103 | 0.1 | 1,030 | BROODSTOCK | CLARK CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2021 | | | | | | Total # | Total Pounds |
|------------------------|------------------|--|-------|------------|----------------|----------|---------|--------------|
| Species: | Rainbow | | | | | Egg Take | | |
| Run: | NA | | | | | Lgg Take | | |
| Stock: | SPRING CR-GOLDEN | NDALE | | | | Shipping | | |
| Brood Origin: | HATCHERY | | | | | Received | | |
| Integrated/Segregated: | | | | | | Planted | 2,350 | 15,635 |
| 11/2025 01/2026 | 40 | 0.1 | 400 | BROODSTOCK | COWLITZ CO LA | KES | | |
| 11/2025 01/2026 | 95 | 95 0.1 950 BROODSTOCK KLICKITAT CO LAKES | | | | | | |
| 11/2025 01/2026 | 148 | 0.1 | 1,480 | BROODSTOCK | LEWIS CO LAKES | S | | |
| 11/2025 01/2026 | 90 | 0.1 | 900 | BROODSTOCK | SKAMANIA CO L | AKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2022 | | | Total # | Total Pounds |
|--|--|--------|----------|--------------|--------------|
| Species: Run: | Rainbow NA | | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | | | Planted | 9,650 | 27,096 |
| <u>Estimated Brood Data</u> Egg Take Goal | | | | | |
| Estimated Transfer Da Shipped or Received Sta | i <u>ta</u> rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. Backfill for Cassimer Bar 1 million eggs. Ship eggs to CBH 11/1 - 11/15 and 12/1 - 12/15.

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2022 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 9,650 | 27,096 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 11/2024 | 11/2024 | 1,500 | 0.8 | 1,875 | JUVENILE | COWLITZ CO LAKES | | |
| 11/2024 | 11/2024 | 2,000 | 0.8 | 2,500 | JUVENILE | KLICKITAT CO LAKES | | |
| 11/2024 | 11/2024 | 1,000 | 0.8 | 1,250 | JUVENILE | SKAMANIA CO LAKES | | |
| 11/2024 | 11/2024 | 1,500 | 0.8 | 1,875 | JUVENILE | CLARK CO LAKES | | |
| 02/2025 | 02/2025 | 340 | 0.5 | 680 | BROODSTOCK | COWLITZ CO LAKES | | |
| 02/2025 | 02/2025 | 160 | 0.5 | 320 | BROODSTOCK | YAKIMA CO LAKES | | |
| 04/2025 | 04/2025 | 425 | 0.3 | 1,417 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2025 | 05/2025 | 290 | 0.3 | 967 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2025 | 05/2025 | 75 | 0.3 | 250 | BROODSTOCK | YAKIMA CO LAKES | | |
| 06/2025 | 06/2025 | 10 | 0.3 | 33 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 07/2025 | 07/2025 | 200 | 0.3 | 667 | BROODSTOCK | TAKHLAKH LK (SKAM) | | |
| 11/2025 | 11/2025 | 164 | 0.2 | 965 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2025 | 11/2025 | 220 | 0.2 | 1,294 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2025 | 01/2026 | 150 | 0.2 | 750 | BROODSTOCK | CLARK CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Yea | r: | 2022 | | | | | Total # | Total Pounds |
|------------|--------------|------------------|-------|-------|------------|----------------------|---------|--------------|
| Species: | | Rainbow | | | | Egg Take | | |
| Run: | | NA | | | | Shipping | | |
| Stock: | | SPRING CR-GOLDEI | NDALE | | | | | |
| Brood Orig | | HATCHERY | | | | Received | | |
| Integrated | /Segregated: | | | | | Planted | 9,650 | 27,096 |
| 11/2025 | 01/2026 | 140 | 0.2 | 700 | BROODSTOCK | COWLITZ CO LAKES | I | |
| 11/2025 | 01/2026 | 190 | 0.2 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2025 | 01/2026 | 221 | 0.2 | 1,105 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2025 | 01/2026 | 115 | 0.2 | 575 | BROODSTOCK | SKAMANIA CO LAKES | | |
| 04/2026 | 04/2026 | 100 | 0.1 | 769 | BROODSTOCK | HORSETHIEF LK (KLIC) | | |
| 04/2026 | 04/2026 | 90 | 0.1 | 692 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2026 | 05/2026 | 60 | 0.1 | 462 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2026 | 11/2026 | 96 | 0.1 | 960 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2026 | 11/2026 | 128 | 0.1 | 1,280 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2026 | 01/2027 | 103 | 0.1 | 1,030 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2026 | 01/2027 | 40 | 0.1 | 400 | BROODSTOCK | COWLITZ CO LAKES | | |
| 11/2026 | 01/2027 | 95 | 0.1 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2026 | 01/2027 | 148 | 0.1 | 1,480 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2026 | 01/2027 | 90 | 0.1 | 900 | BROODSTOCK | SKAMANIA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | | | Total # | Total Pounds |
|---------------------|---------------------|----------|--------|----------|--------------|--------------|
| Species: | Brown Trout | | | Fag Tako | | |
| Run: | NA | | | Egg Take | | |
| Stock: | FORD STOCK | | | Shipping | | |
| Brood Origin: | HATCHERY | | | Received | | |
| Integrated/Segregat | ed: | | | Planted | 9,000 | 180 |
| Estimated Brood | Data | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transf | er Data | | | | | |
| Shipped or Received | Start Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 06/2024 | 07/2024 | 9,000 | 50.0 | 180 | JUVENILE | SKAMANIA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: | 2023 Rainbow | | Egg Take | Total # | Total Pounds |
|--|--|--------|---------------------|--------------|--------------|
| Run: Stock: | NA SPRING CR-GOLDENDALE | | Shipping | | |
| Brood Origin: Integrated/Segregated: | HATCHERY | | Received Planted | 152,306 | 82,650 |
| Estimated Brood Dat Egg Take Goal | <u>a</u> | | | | |
| Estimated Transfer D Shipped or Received St | <u>ata</u> art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. Backfill for Cassimer Bar 1 million eggs. Ship eggs to CBH 11/1 - 11/15 and 12/1 - 12/15.

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 152,306 | 82,650 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|--------------------------|-----------|--------|
| 06/2024 | 06/2024 | 3,000 | 50.0 | 60 | JUVENILE | SKAMANIA CO LAKES | | |
| 01/2025 | 01/2025 | 6,833 | 2.5 | 2,733 | JUVENILE | CLARK CO LAKES | | |
| 01/2025 | 01/2025 | 8,750 | 2.5 | 3,500 | JUVENILE | COWLITZ CO LAKES | | |
| 01/2025 | 01/2025 | 2,000 | 2.5 | 800 | JUVENILE | FORT BORST PRK LK (LEWI) | | |
| 01/2025 | 01/2025 | 3,667 | 2.5 | 1,467 | JUVENILE | KLICKITAT CO LAKES | | |
| 01/2025 | 01/2025 | 5,667 | 2.5 | 2,267 | JUVENILE | SKAMANIA CO LAKES | | |
| 03/2025 | 03/2025 | 3,583 | 2.5 | 1,433 | JUVENILE | LK SACAJAWEA (COWL) | | |
| 03/2025 | 04/2025 | 9,420 | 2.5 | 3,768 | JUVENILE | YAKIMA CO LAKES | | |
| 04/2025 | 04/2025 | 5,833 | 2.5 | 2,333 | JUVENILE | BATTLE GROUND LK (CLAR) | | |
| 04/2025 | 04/2025 | 10,083 | 2.5 | 4,033 | JUVENILE | COWLITZ CO LAKES | | |
| 04/2025 | 04/2025 | 24,167 | 2.5 | 9,667 | JUVENILE | KLICKITAT CO LAKES | | |
| 04/2025 | 04/2025 | 15,667 | 2.5 | 6,267 | JUVENILE | SKAMANIA CO LAKES | | |
| 05/2025 | 05/2025 | 1,833 | 2.5 | 733 | JUVENILE | BATTLE GROUND LK (CLAR) | | |
| 05/2025 | 05/2025 | 4,500 | 2.5 | 1,800 | JUVENILE | COWLITZ CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year | r: | 2023 | | | | | Total # | Total Pounds |
|------------|--------------|-----------------|-------|-------|------------|------------------------|---------|--------------|
| Species: | | Rainbow | | | | Egg Take | | |
| Run: | | | | | | Shipping | | |
| Stock: | | SPRING CR-GOLDE | NDALE | | | | | |
| Brood Orig | - | HATCHERY | | | | Received | | |
| Integrated | /Segregated: | | | | | Planted | 152,306 | 82,650 |
| 05/2025 | 05/2025 | 2,500 | 2.5 | 1,000 | JUVENILE | FORT BORST PRK LK (LEW | /I) | |
| 05/2025 | 05/2025 | 10,750 | 2.5 | 4,300 | JUVENILE | KLICKITAT CO LAKES | | |
| 06/2025 | 06/2025 | 3,167 | 2.5 | 1,267 | JUVENILE | CLARK CO LAKES | | |
| 06/2025 | 06/2025 | 8,333 | 2.5 | 3,333 | JUVENILE | KLICKITAT CO LAKES | | |
| 06/2025 | 06/2025 | 6,250 | 2.5 | 2,500 | JUVENILE | SKAMANIA CO LAKES | | |
| 06/2025 | 07/2025 | 6,663 | 2.5 | 2,665 | JUVENILE | SKAMANIA CO LAKES | | |
| 11/2025 | 11/2025 | 1,500 | 0.8 | 1,875 | JUVENILE | CLARK CO LAKES | | |
| 11/2025 | 11/2025 | 1,500 | 0.8 | 1,875 | JUVENILE | COWLITZ CO LAKES | | |
| 11/2025 | 11/2025 | 2,000 | 0.8 | 2,500 | JUVENILE | KLICKITAT CO LAKES | | |
| 11/2025 | 11/2025 | 1,000 | 0.8 | 1,250 | JUVENILE | SKAMANIA CO LAKES | | |
| 02/2026 | 02/2026 | 340 | 0.5 | 680 | BROODSTOCK | COWLITZ CO LAKES | | |
| 02/2026 | 02/2026 | 160 | 0.5 | 320 | BROODSTOCK | YAKIMA CO LAKES | | |
| 04/2026 | 04/2026 | 100 | 0.1 | 769 | BROODSTOCK | HORSETHIEF LK (KLIC) | | |
| 04/2026 | 04/2026 | 425 | 0.3 | 1,417 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 04/2026 | 04/2026 | 90 | 0.1 | 692 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2026 | 05/2026 | 290 | 0.3 | 967 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2026 | 05/2026 | 60 | 0.1 | 462 | BROODSTOCK | YAKIMA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year | r: | 2023 | | | | | Total # | Total Pounds |
|----------------|---------------|-----------------|-------|-------|------------|--------------------|-----------|--------------|
| Species: | | Rainbow NA | | | | Egg Ta | ke | |
| Run: Stock: | | SPRING CR-GOLDE | | | | Shippi | ng | |
| Brood Orig | in. | HATCHERY | NDALL | | | Receiv | | |
| | /Segregated: | HATCHERT | | | | | | 02.050 |
| integratea | Joegi eguteu. | | | | | Plante | d 152,306 | 82,650 |
| 05/2026 | 05/2026 | 75 | 0.3 | 250 | BROODSTOCK | YAKIMA CO LAKES | | |
| 07/2026 | 07/2026 | 200 | 0.3 | 667 | BROODSTOCK | TAKHLAKH LK (SKAM |) | |
| 11/2026 | 11/2026 | 164 | 0.2 | 820 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2026 | 11/2026 | 220 | 0.2 | 1,100 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2026 | 01/2027 | 150 | 0.2 | 750 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2026 | 01/2027 | 140 | 0.2 | 700 | BROODSTOCK | COWLITZ CO LAKES | | |
| 11/2026 | 01/2027 | 190 | 0.2 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2026 | 01/2027 | 221 | 0.2 | 1,105 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2026 | 01/2027 | 115 | 0.2 | 575 | BROODSTOCK | SKAMANIA CO LAKES | | |
| 11/2027 | 11/2027 | 96 | 0.1 | 960 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2027 | 11/2027 | 128 | 0.1 | 1,280 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2027 | 01/2028 | 103 | 0.1 | 1,030 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2027 | 01/2028 | 95 | 0.1 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2027 | 01/2028 | 148 | 0.1 | 1,480 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2027 | 01/2028 | 90 | 0.1 | 900 | BROODSTOCK | SKAMANIA CO LAKES | | |
| 11/2027 | 11/2028 | 40 | 0.1 | 400 | BROODSTOCK | COWLITZ CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|---------------------|-------------|----------|---------|--------------|
| Species: | Brown Trout | | | |
| Run: | NA | Egg Take | | |
| Stock: | FORD STOCK | Shipping | | |
| Brood Origin: | HATCHERY | Received | 12,000 | 0 |
| Integrated/Segregat | ed: | Planted | 9,000 | 180 |
| Estimated Brood | Data | | | |
| Estimated Brood | Data | | | |

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------|--------|-----|---------------------|------------|
| Received | 12/2024 | 12/2024 | FORD HATCHERY | 12,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 06/2025 | 07/2025 | 9,000 | 50.0 | 180 | JUVENILE | SKAMANIA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|-----------------------|---------------------|----------|---------|--------------|
| Species: | Eastern Brook Trout | | | |
| Run: | NA | Egg Take | | |
| Stock: | FORD STOCK | Shipping | | |
| Brood Origin: | HATCHERY | Received | 25,000 | 0 |
| Integrated/Segregated | l: | Planted | 16,000 | 320 |
| Estimated Brood D | ata | | | |

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------|--------|-----|--------------|------------|
| Received | 12/2024 | 12/2024 | FORD HATCHERY | 25,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 05/2025 | 07/2025 | 16,000 | 50.0 | 320 | JUVENILE | SKAMANIA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Rainbow | Fag Taka | | |
| Run: | NA | Egg Take | 6,000,000 | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 3,340,000 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 152,310 | 82,797 |

Estimated Brood Data

Egg Take Goal 6,000,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------------|-----------|-----|--------------|------------|
| Shipped | 10/2024 | 10/2024 | LAKEWOOD HATCHERY | 20,000 | | 0 | EGGS EYED |
| Shipped | 10/2024 | 01/2025 | KENDALL CR HATCHERY | 160,000 | | 0 | EGGS EYED |
| Shipped | 11/2024 | 11/2024 | COLUMBIA BASIN HATCHERY | 375,000 | | 0 | EGGS EYED |
| Shipped | 11/2024 | 12/2024 | NACHES HATCHERY | 250,000 | | 0 | EGGS EYED |
| Shipped | 11/2024 | 01/2025 | PUYALLUP HATCHERY | 575,000 | | 0 | EGGS EYED |
| Shipped | 12/2024 | 12/2024 | ARLINGTON HATCHERY | 380,000 | | 0 | EGGS EYED |
| Shipped | 12/2024 | 12/2024 | MERWIN HATCHERY | 75,000 | | 0 | EGGS EYED |
| Shipped | 12/2024 | 12/2024 | MOSSYROCK HATCHERY | 250,000 | | 0 | EGGS EYED |
| Shipped | 12/2024 | 12/2024 | TOKUL CR HATCHERY | 85,000 | | 0 | EGGS EYED |
| Shipped | 12/2024 | 12/2024 | VANCOUVER HATCHERY | 70,000 | | 0 | EGGS EYED |
| Shipped | 12/2024 | 01/2025 | EELLS SPRINGS | 1,100,000 | | 0 | EGGS EYED |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Rainbow | | | |
| Run: | NA | Egg Take | 6,000,000 | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 3,340,000 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 152,310 | 82,797 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|--------------------------|-----------|--------|
| 06/2025 | 06/2025 | 3,000 | 50.0 | 60 | JUVENILE | SKAMANIA CO LAKES | | |
| 01/2026 | 01/2026 | 6,833 | 2.5 | 2,733 | JUVENILE | CLARK CO LAKES | | |
| 01/2026 | 01/2026 | 8,750 | 2.5 | 3,500 | JUVENILE | COWLITZ CO LAKES | | |
| 01/2026 | 01/2026 | 2,000 | 2.5 | 800 | JUVENILE | FORT BORST PRK LK (LEWI) | | |
| 01/2026 | 01/2026 | 3,667 | 2.5 | 1,467 | JUVENILE | KLICKITAT CO LAKES | | |
| 01/2026 | 01/2026 | 5,667 | 2.5 | 2,267 | JUVENILE | SKAMANIA CO LAKES | | |
| 03/2026 | 03/2026 | 3,583 | 2.5 | 1,433 | JUVENILE | LK SACAJAWEA (COWL) | | |
| 03/2026 | 04/2026 | 9,420 | 2.5 | 3,768 | JUVENILE | YAKIMA CO LAKES | | |
| 04/2026 | 04/2026 | 5,833 | 2.5 | 2,333 | JUVENILE | BATTLE GROUND LK (CLAR) | | |
| 04/2026 | 04/2026 | 10,083 | 2.5 | 4,033 | JUVENILE | COWLITZ CO LAKES | | |
| 04/2026 | 04/2026 | 24,167 | 2.5 | 9,667 | JUVENILE | KLICKITAT CO LAKES | | |
| 04/2026 | 04/2026 | 15,667 | 2.5 | 6,267 | JUVENILE | SKAMANIA CO LAKES | | |
| 05/2026 | 05/2026 | 1,833 | 2.5 | 733 | JUVENILE | BATTLE GROUND LK (CLAR) | | |
| 05/2026 | 05/2026 | 4,500 | 2.5 | 1,800 | JUVENILE | COWLITZ CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | | 2024 | | | | | Total # | Total Pounds |
|--------------|-------------|-----------------|-------|-------|------------|-----------------------|-----------|--------------|
| Species: | | Rainbow | | | | Egg Take | | |
| Run: | | NA | | | | | | |
| Stock: | | SPRING CR-GOLDE | NDALE | | | Shipping | 3,340,000 | 0 |
| Brood Origin | 1: | HATCHERY | | | | Received | | |
| Integrated/S | Segregated: | | | | | Planted | 152,310 | 82,797 |
| 05/2026 | 05/2026 | 2,500 | 2.5 | 1,000 | JUVENILE | FORT BORST PRK LK (LE | WI) | |
| 05/2026 | 05/2026 | 10,750 | 2.5 | 4,300 | JUVENILE | KLICKITAT CO LAKES | | |
| 06/2026 | 06/2026 | 3,167 | 2.5 | 1,267 | JUVENILE | CLARK CO LAKES | | |
| 06/2026 | 06/2026 | 8,333 | 2.5 | 3,333 | JUVENILE | KLICKITAT CO LAKES | | |
| 06/2026 | 06/2026 | 6,250 | 2.5 | 2,500 | JUVENILE | SKAMANIA CO LAKES | | |
| 07/2026 | 07/2026 | 6,667 | 2.5 | 2,667 | JUVENILE | SKAMANIA CO LAKES | | |
| 11/2026 | 11/2026 | 1,500 | 0.8 | 1,875 | JUVENILE | CLARK CO LAKES | | |
| 11/2026 | 11/2026 | 1,500 | 0.8 | 1,875 | JUVENILE | COWLITZ CO LAKES | | |
| 11/2026 | 11/2026 | 2,000 | 0.8 | 2,500 | JUVENILE | KLICKITAT CO LAKES | | |
| 11/2026 | 11/2026 | 1,000 | 0.8 | 1,250 | JUVENILE | SKAMANIA CO LAKES | | |
| 02/2027 | 02/2027 | 340 | 0.5 | 680 | BROODSTOCK | COWLITZ CO LAKES | | |
| 02/2027 | 02/2027 | 160 | 0.5 | 320 | BROODSTOCK | YAKIMA CO LAKES | | |
| 04/2027 | 04/2027 | 425 | 0.3 | 1,417 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2027 | 05/2027 | 290 | 0.3 | 967 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2027 | 05/2027 | 75 | 0.3 | 250 | BROODSTOCK | YAKIMA CO LAKES | | |
| 07/2027 | 07/2027 | 200 | 0.3 | 667 | BROODSTOCK | TAKHLAKH LK (SKAM) | | |
| 11/2027 | 11/2027 | 164 | 0.2 | 965 | BROODSTOCK | KITTITAS CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year | r: | 2024 | | | | | Total # | Total Pounds |
|------------------|--------------|-----------------|-----|-------|------------|----------------------|-----------|--------------|
| Species: Run: | | Rainbow NA | | | | Egg Take | 6,000,000 | |
| Stock: | | SPRING CR-GOLDE | | | | Shipping | 3,340,000 | 0 |
| Brood Orig | in: | HATCHERY | | | | Received | | |
| - | /Segregated: | - | | | | Planted | 152,310 | 82,797 |
| - | | | | | | | 152,510 | |
| 11/2027 | 11/2027 | 220 | 0.2 | 1,100 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2027 | 01/2028 | 150 | 0.2 | 750 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2027 | 01/2028 | 140 | 0.2 | 700 | BROODSTOCK | COWLITZ CO LAKES | | |
| 11/2027 | 01/2028 | 190 | 0.2 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2027 | 01/2028 | 221 | 0.2 | 1,105 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2027 | 01/2028 | 115 | 0.2 | 575 | BROODSTOCK | SKAMANIA CO LAKES | | |
| 04/2028 | 04/2028 | 100 | 0.1 | 769 | BROODSTOCK | HORSETHIEF LK (KLIC) | | |
| 04/2028 | 04/2028 | 90 | 0.1 | 692 | BROODSTOCK | KLINELINE PD (CLAR) | | |
| 05/2028 | 05/2028 | 60 | 0.1 | 462 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2028 | 11/2028 | 96 | 0.1 | 960 | BROODSTOCK | KITTITAS CO LAKES | | |
| 11/2028 | 11/2028 | 128 | 0.1 | 1,280 | BROODSTOCK | YAKIMA CO LAKES | | |
| 11/2028 | 01/2029 | 103 | 0.1 | 1,030 | BROODSTOCK | CLARK CO LAKES | | |
| 11/2028 | 01/2029 | 40 | 0.1 | 400 | BROODSTOCK | COWLITZ CO LAKES | | |
| 11/2028 | 01/2029 | 95 | 0.1 | 950 | BROODSTOCK | KLICKITAT CO LAKES | | |
| 11/2028 | 01/2029 | 148 | 0.1 | 1,480 | BROODSTOCK | LEWIS CO LAKES | | |
| 11/2028 | 01/2029 | 90 | 0.1 | 900 | BROODSTOCK | SKAMANIA CO LAKES | | |

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|---------------------|-------------|----------|---------|--------------|
| Species: | Tiger Trout | | | |
| Run: | NA | Egg Take | | |
| Stock: | FORD STOCK | Shipping | | |
| Brood Origin: | HATCHERY | Received | 20,000 | 0 |
| Integrated/Segregat | ed: | Planted | 10,000 | 200 |
| Estimated Brood | Data | | | |

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------|--------|-----|---------------------|------------|
| Received | 11/2024 | 11/2024 | FORD HATCHERY | 20,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 05/2025 | 07/2025 | 10,000 | 50.0 | 200 | JUVENILE | SKAMANIA CO LAKES | | |

Memo: Program implementation is dependent on legal authority and funding. Every even calendar year.

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|----------------------|----------------|----------|---------|--------------|
| Species: | Cutthroat | | | |
| Run: | Westslope | Egg Take | | |
| Stock: | KING LK (PEND) | Shipping | | |
| Brood Origin: | WILD | Received | 20,000 | 0 |
| Integrated/Segregate | ed: | Planted | 6,800 | 27 |
| | | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|---------------------|------------|
| Received | 05/2025 | 05/2025 | SPOKANE HATCHERY | 20,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 09/2025 | 09/2025 | 6,800 | 250.0 | 27 | JUVENILE | SKAMANIA CO LAKES | | |

JULIUS A WENDT ELEMENTARY SCHOOL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 250 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | BEAVER CR HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 04/2025 | 250 | 1,500.0 | 0 | JUVENILE | BIRNIE CR 25.0281 | | |

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Estimated Brood D | Species:ChinookRun:SpringStock:KALAMA R HATCH 27.0002Brood Origin:HATCHERYIntegrated/Segregated:SEGREGATED | | | | Egg Take Shipping Received Planted | Total # 520,000 | Total Pounds20,800 |
|---------------------|--|----------|---------------------|---------|---|-----------------------|--------------------|
| Egg Take Goal | | | | | | | |
| Estimated Transfe | r Data | | | | | | |
| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
| Shipped | 11/2024 | 12/2024 | FALLERT CR HATCHERY | 520,000 | 25.0 | 20,800 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|
| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |

Memo: Program implementation is dependent on legal authority and funding. May adjust release numbers between Kalama Falls and Fallert Creek, but the Kalama River goal will remain at 500,000. May be used to backfill Cowlitz. May use Cowlitz or Lewis stocks as backfill.

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | 257,000 | 5,140 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 300,000 | 17,647 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------------|---------|------|--------------|------------|
| Shipped | 10/2024 | 11/2024 | RINGOLD SPRINGS HATCHERY | 257,000 | 50.0 | 5,140 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|------------------|-----------|--------|
| 04/2025 | 05/2025 | 45,000 | 17.0 | 2,647 | JUVENILE | KALAMA R 27.0002 | AD | |
| 04/2025 | 05/2025 | 255,000 | 17.0 | 15,000 | JUVENILE | KALAMA R 27.0002 | AD | |

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds | | | |
|------------------------|--------------------------------|----------|-----------|--------------|--|--|--|
| Species: | Chinook | Egg Take | 3,100,000 | | | | |
| Run: Stock: | Fall KALAMA R HATCH 27.0002 | Shipping | 2,900,000 | 0 | | | |
| Brood Origin: | HATCHERY | Received | _,, | | | | |
| Integrated/Segregated: | | Planted | | | | | |
| Estimated Brood Data | | | | | | | |
| Egg Take Goal 3, | 100,000 | | | | | | |

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------------|-----------|-----|--------------|------------|
| Shipped | 10/2024 | 11/2024 | FALLERT CR HATCHERY | 2,900,000 | | 0 | EGGS EYED |
| | | | | | | | |
| Estimated Release | e Data | | | | | | |

| | Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|--|------------|----------|-------------|-----|---------------------|------------|--------------|-----------|--------|
|--|------------|----------|-------------|-----|---------------------|------------|--------------|-----------|--------|

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------|----------|-----------|--------------|
| Species: | Chinook | I | | |
| Run: | Fall | Egg Take | | |
| Stock: | BONNEVILLE | Shipping | 1,800,000 | 12,000 |
| Brood Origin: | HATCHERY | Received | 2,000,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | / | | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------|----------------|------------|--------------|-------|--------------|-------------|
| Received | 10/2024 | 10/2024 | BONN | EVILLE HATCHER | RY | 2,000,000 | | 0 | EGGS EYED |
| Shipped | 05/2025 | 05/2025 | BONN | EVILLE HATCHEF | RY | 1,800,000 | 150.0 | 12,000 | JUVENILE |
| Estimated Release | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Гуре Tagged |

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Species:ChinookForth of the originRun:SpringEgg Take1,030,000Stock:KALAMA R HATCH 27.0002Shipping920,00020,800Brood Origin:HATCHERYReceivedKet of the origin | Brood Year: | 2024 | | Total # | Total Pounds |
|--|------------------------|------------------------|-----------|-----------|---------------|
| Kun: Spring Stock: KALAMA R HATCH 27.0002 Shipping 920,000 20,800 | Species: | Chinook | Fee Teles | | Total Totalds |
| | Run: | Spring | Еgg Таке | 1,030,000 | |
| Brood Origin: HATCHERY Received | Stock: | KALAMA R HATCH 27.0002 | Shipping | 920,000 | 20,800 |
| | Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: SEGREGATED Planted | Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal 1,030,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage | |
|---------------------|------------|----------|----------|---------------|------------|--------------|------|-------------------|------------|-------|
| Shipped | 09/2024 | 09/2024 | BEAVER | R CR HATCHERY | | 400,000 | | 0 | EGGS GRE | EN |
| Shipped | 11/2025 | 12/2025 | FALLER | T CR HATCHERY | <i>I</i> | 520,000 | 25.0 | 20,800 | JUVENILE | |
| Estimated Release | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark ⁻ | Гуре Та | agged |

Memo: Program implementation is dependent on legal authority and funding. May adjust release numbers between Kalama Falls and Fallert Creek, but the Kalama River goal will remain at 500,000. May be used to backfill Cowlitz. May use Cowlitz or Lewis stocks as backfill.

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Coho | Egg Tako | | |
| Run: | Type N | Egg Take | 710,000 | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | 257,500 | 5,140 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 300,000 | 17,647 |

Estimated Brood Data

Egg Take Goal 710,000

Estimated Transfer Data

| Shipped or | Received | Start Date | End Date | Facility | y | | Number | FPP | Total Pounds | Life Sta | ige |
|------------------|----------|-------------|----------|----------|---------------------|------------|--------------|--------|---------------------|----------|--------|
| Shipped | | 01/2024 | 01/2024 | ROSE | VALLEY ES(KELS | 50 | 250 | | 0 | EGGS | EYED |
| Shipped | | 01/2024 | 01/2024 | ST RC | DSE SCHL (LONGV | Ί | 250 | | 0 | EGGS | EYED |
| Shipped | | 11/2025 | 11/2025 | RING | OLD SPRINGS HA | TCHERY | 257,000 | 50.0 | 5,140 | JUVEN | JILE |
| Estimated | Release | <u>Data</u> | | | | | | | | | |
| Start Date | End Date | Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |
| 04/2026 | 05/2026 | 45 | 5,000 | 17.0 | 2,647 | JUVENILE | KALAMA R 2' | 7.0002 | AD | | |
| 04/2026 | 05/2026 | 255 | 5,000 | 17.0 | 15,000 | JUVENILE | KALAMA R 2' | 7.0002 | AD | | |

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Winter | Egg Take | | |
| Stock: | KALAMA FALLS HATCHERY | Shipping | 50,000 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 90,000 | 16,364 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|-----|--------------|------------|
| Shipped | 05/2024 | 05/2024 | SKAMANIA HATCHERY | 50,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------------|
| 04/2025 | 05/2025 | 90,000 | 5.5 | 16,364 | JUVENILE | KALAMA R 27.0002 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15. Surplus planted in land-locked lakes.

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated | 2025 Steelhea Summer KALAMA WILD J: INTEGRA | R 27.0002 | | | Egg Take Shipping Received Planted | Total # 135,000 130,000 | Total Pounds 0 |
|---|--|-----------|--------------------|---------|---|--------------------------------------|------------------|
| Estimated Brood D | <u>)ata</u> 135,000 | | | | | | |
| Estimated Transfer Shipped or Received | r Data Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
| Shipped | 03/2025 | 04/2025 | MOSSYROCK HATCHERY | 130,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date Lind Date Multi Nelease ITT Total Founds Life Stage Nelease Site Indian Type Tagged | Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|--|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|
|--|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-----------------------|----------|---------|--------------|
| Species: | Steelhead | Egg Take | 280,000 | |
| Run: | Winter | | | |
| Stock: | KALAMA FALLS HATCHERY | Shipping | 50,000 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 90,000 | 16,364 |
| | | | | |

Estimated Brood Data

Egg Take Goal 280,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|-----|---------------------|------------|
| Shipped | 05/2025 | 05/2025 | SKAMANIA HATCHERY | 50,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------------|
| 04/2026 | 05/2026 | 90,000 | 5.5 | 16,364 | JUVENILE | KALAMA R 27.0002 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15. Surplus planted in land-locked lakes.

KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated | 2025 Steelhea Winter-I KALAMA WILD I: INTEGRA | ate R 27.0002 | | | Egg Take Shipping Received Planted | Total # 72,000 60,000 | Total Pounds | | | | |
|---|--|------------------|--------------------|--------|---|------------------------------------|--------------|--|--|--|--|
| Estimated Brood Data Egg Take Goal 72,000 | | | | | | | | | | | |
| Estimated Transfer Shipped or Received | <u>· Data</u> Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage | | | | |
| Shipped | 04/2025 | 05/2025 | MOSSYROCK HATCHERY | 60,000 | | 0 | EGGS EYED | | | | |

Estimated Release Data

| | _ | _ | | | | | _ | |
|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|
| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

KLICKITAT HATCHERY (YKFP)

YAKAMA TRIBE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | | | Total # | Total Pounds |
|-------------------------|---------------------|----------|--------|----------|--------------|--------------|
| Species: | Chinook | | | Egg Take | | |
| Run: | Spring | | | | | |
| Stock: | KLICKITAT R 30.0002 | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 600,000 | 42,857 |
| Estimated Brood Data | <u>a</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 03/2025 | 05/2025 | 200,000 | 14.0 | 14,286 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |
| 03/2025 | 05/2025 | 400,000 | 14.0 | 28,571 | JUVENILE | KLICKITAT R 30.0002 | AD | |

Memo: On station plant, released 12-15 fpp.

KLICKITAT HATCHERY (YKFP)

YAKAMA TRIBE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 Calu | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: | Coho | | Egg Take | | |
| Run: | Type N | | Shipping | | |
| Stock: | LEWIS R 27.0168 | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 1,000,000 | 66,667 |
| Estimated Brood Data | L | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | <u>ita</u> | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 04/2025 | 06/2025 | 45,000 | 15.0 | 3,000 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |
| 04/2025 | 06/2025 | 955,000 | 15.0 | 63,667 | JUVENILE | KLICKITAT R 30.0002 | AD | |

Memo: On station plant, release at 15-17 fpp.

KLICKITAT HATCHERY (YKFP)

YAKAMA TRIBE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | Fee Take | | |
| Run: | Fall | Egg Take | | |
| Stock: | LTL WHITE SALMON-NFH | Shipping | | |
| Brood Origin: | HATCHERY | Received | 5,250,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 5,000,000 | 62,500 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|-----------|-----|---------------------|------------|
| Received | 10/2024 | 12/2024 | LTL WHITE SALMON NFH | 5,250,000 | | 0 | EGGS GREEN |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 04/2025 | 06/2025 | 450,000 | 80.0 | 5,625 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |
| 05/2025 | 06/2025 | 4,550,000 | 80.0 | 56,875 | JUVENILE | KLICKITAT R 30.0002 | AD | |

Memo: Station plant. Release size of 50-80 fpp. Eggs may come from any URB stock. Facility logistics may limit the number of AD clips.

KLICKITAT HATCHERY (YKFP)

YAKAMA TRIBE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Chinash | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|-------|--------------|--------------|
| Species: Run: | Chinook Spring | Egg | Take | 950,000 | |
| Stock: | KLICKITAT R 30.0002 | Ship | ping | | |
| Brood Origin: | MIXED | Rece | eived | | |
| Integrated/Segregated: | INTEGRATED | Plan | nted | 600,000 | 42,857 |
| Estimated Brood Data | <u>a</u> | | | | |
| Egg Take Goal 950 | 000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | rrt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 03/2026 | 05/2026 | 200,000 | 14.0 | 14,286 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |
| 03/2026 | 05/2026 | 400,000 | 14.0 | 28,571 | JUVENILE | KLICKITAT R 30.0002 | AD | |

Memo: On station plant, released 12-15 fpp.

KLICKITAT HATCHERY (YKFP)

YAKAMA TRIBE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|-----------|--------------|
| Species: | Coho | Fag Taka | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 1,300,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,000,000 | 66,667 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|-----------|-----|--------------|------------|
| Received | 01/2025 | 01/2025 | WASHOUGAL HATCHERY | 1,300,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 04/2026 | 06/2026 | 45,000 | 15.0 | 3,000 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |
| 04/2026 | 06/2026 | 955,000 | 15.0 | 63,667 | JUVENILE | KLICKITAT R 30.0002 | AD | |

Memo: On station plant, release at 15-17 fpp.

Friday, July 26, 2024

KLINELINE PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------------|-----------|---------|--------------|
| Species: | Steelhead | Fee Teles | | |
| Run: | Winter | Egg Take | | |
| Stock: | KALAMA FALLS HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 41,000 | 3,417 |
| Integrated/Segregated: | SEGREGATED | Planted | 40,000 | 5,714 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|------|--------------|------------|
| Received | 03/2025 | 03/2025 | SKAMANIA HATCHERY | 41,000 | 12.0 | 3,417 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 05/2025 | 40,000 | 7.0 | 5,714 | JUVENILE | SALMON CR 28.0059 | AD | |

KLINELINE PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds | |
|------------------------|-----------------------|----------|---------|--------------|--|
| Species: | Steelhead | | | | |
| Run: | Winter | Egg Take | | | |
| Stock: | KALAMA FALLS HATCHERY | Shipping | | | |
| Brood Origin: | HATCHERY | Received | 41,000 | 3,417 | |
| Integrated/Segregated: | SEGREGATED | Planted | 40,000 | 5,714 | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|------|--------------|------------|
| Received | 03/2026 | 03/2026 | SKAMANIA HATCHERY | 41,000 | 12.0 | 3,417 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2026 | 05/2026 | 40,000 | 7.0 | 5,714 | JUVENILE | SALMON CR 28.0059 | AD | |

KRAUS RYDERWOOD PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|-------------------------|-------------------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | | Shipping | | |
| Stock: Brood Origin: | COWLITZ R 26.0002 HATCHERY | Received | 1,000 | 10 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,000 | 10 |
| | | Flanted | 1,000 | 10 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------------|--------|-------|--------------|------------|
| Received | 06/2025 | 06/2025 | COWLITZ SALMON HATCHERY | 1,000 | 100.0 | 10 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 06/2025 | 06/2025 | 1,000 | 100.0 | 10 | JUVENILE | CAMPBELL CR 26.0443 | AD | |

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | Egg Tako | | |
| Run: | Spring | Egg Take | | |
| Stock: | LEWIS RIVER HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 1,360,000 | 32,415 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,300,000 | 120,835 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|-----------|-------|--------------|------------|
| Received | 05/2025 | 06/2025 | SPEELYAI HATCHERY | 1,000,000 | 130.0 | 7,692 | JUVENILE |
| Received | 12/2025 | 12/2025 | SPEELYAI HATCHERY | 170,000 | 12.0 | 14,167 | JUVENILE |
| Received | 12/2025 | 12/2025 | SPEELYAI HATCHERY | 190,000 | 18.0 | 10,556 | JUVENILE |

Memo: Program implementation is dependent on legal authority and funding. May be used to backfill Cowlitz.

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | Coo Tala | | |
| Run: | Spring | Egg Take | | |
| Stock: | LEWIS RIVER HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 1,360,000 | 32,415 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,300,000 | 120,835 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 10/2024 | 10/2024 | 750,000 | 12.0 | 62,500 | JUVENILE | LEWIS R 27.0168 | AD | |
| 10/2024 | 10/2024 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 10/2024 | 10/2024 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2025 | 02/2025 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 02/2025 | 02/2025 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2025 | 03/2025 | 100,000 | 12.0 | 8,333 | JUVENILE | LEWIS R 27.0168 | AD | |
| 02/2025 | 03/2025 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2025 | 03/2025 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 02/2025 | 03/2025 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2025 | 03/2025 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 02/2025 | 03/2025 | 150,000 | 8.0 | 18,750 | JUVENILE | LEWIS R 27.0168 | AD | |

Memo: Program implementation is dependent on legal authority and funding. May be used to backfill Cowlitz.

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 Coho | | | Total # | Total Pounds |
|-------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: Run: | Type N | E | gg Take | | |
| Stock: | LEWIS R 27.0168 | S | hipping | | |
| Brood Origin: | MIXED | R | Received | | |
| Integrated/Segregated: | INTEGRATED | P | lanted | 900,000 | 56,251 |
| Estimated Brood Data | <u>a</u> | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | <u>ata</u> | | | | |
| Shipped or Received Sta | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 04/2025 | 05/2025 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 04/2025 | 05/2025 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 04/2025 | 05/2025 | 750,000 | 16.0 | 46,875 | JUVENILE | LEWIS R 27.0168 | AD | |

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 Caba | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: Run: | Coho Type S | | Egg Take | | |
| Stock: | LEWIS RIVER HATCHERY | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 1,100,000 | 68,751 |
| Estimated Brood Data | <u>a</u> | L | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 04/2025 | 05/2025 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 04/2025 | 05/2025 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 04/2025 | 05/2025 | 950,000 | 16.0 | 59,375 | JUVENILE | LEWIS R 27.0168 | AD | |

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | Fee Tele | | |
| Run: | Spring | Egg Take | | |
| Stock: | LEWIS RIVER HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 1,410,000 | 32,800 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,300,000 | 120,835 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|-----------|-------|--------------|------------|
| Received | 05/2026 | 06/2026 | SPEELYAI HATCHERY | 1,050,000 | 130.0 | 8,077 | JUVENILE |
| Received | 12/2026 | 12/2026 | SPEELYAI HATCHERY | 170,000 | 12.0 | 14,167 | JUVENILE |
| Received | 12/2026 | 12/2026 | SPEELYAI HATCHERY | 190,000 | 18.0 | 10,556 | JUVENILE |

Memo: Program implementation is dependent on legal authority and funding. May be used to backfill Cowlitz.

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | с т. | | |
| Run: | Spring | Egg Take | | |
| Stock: | LEWIS RIVER HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 1,410,000 | 32,800 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,300,000 | 120,835 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 02/2026 | 02/2026 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2026 | 02/2026 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 02/2026 | 03/2026 | 150,000 | 8.0 | 18,750 | JUVENILE | LEWIS R 27.0168 | AD | |
| 02/2026 | 03/2026 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2026 | 03/2026 | 100,000 | 12.0 | 8,333 | JUVENILE | LEWIS R 27.0168 | AD | |
| 02/2026 | 03/2026 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 02/2026 | 03/2026 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 02/2026 | 03/2026 | 37,500 | 8.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 10/2026 | 11/2026 | 750,000 | 12.0 | 62,500 | JUVENILE | LEWIS R 27.0168 | AD | |
| 10/2026 | 11/2026 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 10/2026 | 11/2026 | 37,500 | 12.0 | 3,125 | JUVENILE | LEWIS R 27.0168 | | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. May be used to backfill Cowlitz.

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|-----------|--------------|
| Species: | Coho | Fee Take | | |
| Run: | Type N | Egg Take | 3,716,000 | |
| Stock: | LEWIS R 27.0168 | Shipping | 2,998,650 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal 3,716,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|-----------|-----|--------------|------------|
| Shipped | 11/2024 | 12/2024 | WASHOUGAL HATCHERY | 1,423,000 | | 0 | EGGS GREEN |
| Shipped | 11/2024 | 12/2024 | WASHOUGAL HATCHERY | 1,500,000 | | 0 | EGGS GREEN |
| Shipped | 01/2025 | 01/2025 | CAPTAIN STRONG ES(BG | 150 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | CLARK COUNTY PUD | 46,000 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | COLUMBIA SPRINGS COOP | 14,500 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | STEVE SYVERSON PROJ | 5,000 | | 0 | EGGS EYED |
| Shipped | 01/2025 | 01/2025 | UNION RIDGE PROJECT | 10,000 | | 0 | EGGS EYED |

Memo: Program implementation is dependent on legal authority and funding. The 3 million is for Washougal as backfill if Washougal stock in not available.

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | | | Total # | Total Pounds |
|------------------------|---------------------------|-----|--------------|------------|--------------|----------|-----------|--------------|
| Species: | Coho | | | | | Egg Take | 3,716,000 | |
| Run: Stock: | Type N LEWIS R 27.0168 | | | | | Shipping | 2,998,650 | 0 |
| Brood Origin: | HATCHERY | | | | | Received | | |
| Integrated/Segregated: | SEGREGATED | | | | | Planted | | |
| Estimated Release Data | | | | | | | | |
| Start Date End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | | Mark T | ype Tagged |

Memo: Program implementation is dependent on legal authority and funding. The 3 million is for Washougal as backfill if Washougal stock in not available.

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Caba | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|---------------------|--------------|
| Species: Run: | Coho Type N | | Egg Take | 1,200,000 | |
| Stock: | LEWIS R 27.0168 | | Shipping | | |
| Brood Origin: | MIXED | | Received | | |
| Integrated/Segregated: | INTEGRATED | | Planted | 900,000 | 56,251 |
| Estimated Brood Data | | | | | |
| Egg Take Goal 1,20 | 0,000 | | | | |
| Estimated Transfer D | <u>ita</u> | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 04/2026 | 05/2026 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 04/2026 | 05/2026 | 750,000 | 16.0 | 46,875 | JUVENILE | LEWIS R 27.0168 | AD | |
| 04/2026 | 05/2026 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |

LEWIS RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Coho | с т. | | |
| Run: | Type S | Egg Take | | |
| Stock: | LEWIS RIVER HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 1,325,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,100,000 | 68,751 |

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|-----------|-----|---------------------|------------|
| Received | 11/2024 | 11/2024 | SPEELYAI HATCHERY | 1,325,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 04/2026 | 05/2026 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | AD | \checkmark |
| 04/2026 | 05/2026 | 75,000 | 16.0 | 4,688 | JUVENILE | LEWIS R 27.0168 | | \checkmark |
| 04/2026 | 05/2026 | 950,000 | 16.0 | 59,375 | JUVENILE | LEWIS R 27.0168 | AD | |

LEXINGTON ELEMENTARY SCHOOL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | COWLITZ R 26.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 250 | 1 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | COWLITZ SALMON HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 04/2025 | 250 | 500.0 | 1 | JUVENILE | COWLITZ R 26.0002 | | |

LTL WHITE SALMON NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: | 2023 Chinook | | Total # | Total Pounds |
|---|--|--|----------------|--------------|
| Run: Stock: Brood Origin: Integrated/Segregated: | Spring LTL WHITE SALMON-NFH HATCHERY SEGREGATED | Egg Tak Shippin Receive Planted | 5 | 66,667 |
| Estimated Brood Dat Egg Take Goal | <u>a</u> | | | |
| Estimated Transfer D Shipped or Received St | <u>ata</u> art Date End Date Facility | Number FP | P Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------------|-----------|--------|
| 04/2025 | 04/2025 | 925,000 | 15.0 | 61,667 | JUVENILE | LITTL WHITE SALMON R | AD | |
| 04/2025 | 04/2025 | 75,000 | 15.0 | 5,000 | JUVENILE | LITTL WHITE SALMON R | AD | |

Memo: On-station yearling release goal of 1.2-1.4 million. 350,000 eyed eggs are shipped to Umatilla Hatchery.

LTL WHITE SALMON NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|-----------|------------|--------------|
| Species: | Chinook | Coo Toles | | |
| Run: | Fall | Egg Take | 16,687,845 | |
| Stock: | LTL WHITE SALMON-NFH | Shipping | 11,680,700 | 4,857 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 4,500,000 | 50,000 |

Estimated Brood Data

Egg Take Goal 16,687,845

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------------------|-----------|-------|--------------|------------|
| Shipped | 10/2024 | 12/2024 | BONNEVILLE HATCHERY | 2,480,000 | | 0 | EGGS GREEN |
| Shipped | 10/2024 | 12/2024 | KLICKITAT HATCHERY (YKFP) | 5,250,000 | | 0 | EGGS GREEN |
| Shipped | 11/2024 | 11/2024 | CARSON DEPOT SPRINGS NFH | 2,250,000 | | 0 | EGGS GREEN |
| Shipped | 12/2024 | 12/2024 | REG 5 ED COOPS | 700 | | 0 | EGGS EYED |
| Shipped | 03/2025 | 04/2025 | YAKIMA HATCHERY | 1,700,000 | 350.0 | 4,857 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------------|-----------|--------------|
| 06/2025 | 06/2025 | 4,100,000 | 90.0 | 45,556 | JUVENILE | LITTL WHITE SALMON R | AD | |
| 06/2025 | 06/2025 | 200,000 | 90.0 | 2,222 | JUVENILE | LITTL WHITE SALMON R | AD | \checkmark |
| 06/2025 | 06/2025 | 200,000 | 90.0 | 2,222 | JUVENILE | LITTL WHITE SALMON R | | \checkmark |

Memo: Shipped to USGS/BRD/CRRL.

LTL WHITE SALMON NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Estimated Transfer D | ata | | | | |
|------------------------|----------------------|--|----------|-----------|---------------|
| Egg Take Goal 2,00 | 0,000 | | | | |
| Estimated Brood Dat | <u>1</u> | | | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 1,300,000 | 86,667 |
| Brood Origin: | HATCHERY | | Received | | |
| Stock: | LTL WHITE SALMON-NFH | | Shipping | | |
| Run: | Spring | | Egg Take | 2,000,000 | |
| Species: | Chinook | | | | Total Poullus |
| Brood Year: | 2024 | | | Total # | Total Pounds |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------------|-----------|--------|
| 04/2026 | 04/2026 | 1,300,000 | 15.0 | 86,667 | JUVENILE | LITTL WHITE SALMON R | AD | |

Memo: On-station yearling release goal of 1.2-1.4 million. 350,000 eyed eggs are shipped to Umatilla Hatchery.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2021 | | | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|----------|--------------|--------------|
| Species: | Rainbow | | | Egg Take | | |
| Run: | NA | | | | | |
| Stock: | SPRING CR-GOLDENDALE | | | Shipping | | |
| Brood Origin: | HATCHERY | | | | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 2,000 | 8,000 | |
| Estimated Brood Dat | <u>a</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received St | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------|-----------|--------|
| 07/2024 | 07/2024 | 2,000 | 0.3 | 8,000 | JUVENILE | LK MERWIN (27) | AD | |

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2022 | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|---------|--------------|--------------|
| Species: Run: | Rainbow NA | Eį | gg Take | | |
| Stock: | SPRING CR-GOLDENDALE | SI | hipping | | |
| Brood Origin: | HATCHERY | R | eceived | | |
| Integrated/Segregated: | SEGREGATED | P | lanted | 7,000 | 15,576 |
| Estimated Brood Data | <u>l</u> | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------|-----------|--------|
| 07/2024 | 07/2024 | 5,000 | 0.7 | 7,576 | JUVENILE | LK MERWIN (27) | AD | |
| 07/2025 | 07/2025 | 2,000 | 0.3 | 8,000 | JUVENILE | LK MERWIN (27) | AD | |

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | c | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 45,000 | 3,750 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 12,000 | 16,745 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|------|--------------|------------|
| Shipped | 11/2024 | 12/2024 | SPEELYAI HATCHERY | 45,000 | 12.0 | 3,750 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------------|-----------|--------|
| 04/2025 | 04/2025 | 3,500 | 2.5 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 06/2025 | 06/2025 | 2,100 | 1.5 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 07/2025 | 07/2025 | 3,000 | 0.7 | 4,545 | JUVENILE | LK MERWIN (27) | AD | |
| 07/2025 | 07/2025 | 1,400 | 1.0 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 07/2026 | 07/2026 | 2,000 | 0.3 | 8,000 | JUVENILE | LK MERWIN (27) | AD | |

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 45,000 | 3,750 |
| Brood Origin: | HATCHERY | Received | 75,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 12,000 | 16,745 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------------|--------|------|--------------|------------|
| Received | 12/2024 | 12/2024 | GOLDENDALE HATCHERY | 75,000 | | 0 | EGGS EYED |
| Shipped | 11/2025 | 12/2025 | SPEELYAI HATCHERY | 45,000 | 12.0 | 3,750 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------------|-----------|--------|
| 04/2026 | 04/2026 | 3,500 | 2.5 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 06/2026 | 06/2026 | 2,100 | 1.5 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 07/2026 | 07/2026 | 3,000 | 0.7 | 4,545 | JUVENILE | LK MERWIN (27) | AD | |
| 07/2026 | 07/2026 | 1,400 | 1.0 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 07/2028 | 07/2028 | 2,000 | 0.3 | 8,000 | JUVENILE | LK MERWIN (27) | AD | |

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Steelhead | I | | |
| Run: | Summer | Egg Take | | |
| Stock: | MERWIN HATCHERY | Shipping | 63,000 | 9,000 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 200,000 | 36,364 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|--------------|------------|
| Shipped | 03/2025 | 03/2025 | ECHO NP (LEWIS R-NF) | 63,000 | 7.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------|-----------|--------|
| 04/2025 | 05/2025 | 200,000 | 5.5 | 36,364 | JUVENILE | LEWIS R 27.0168 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | Total # | Total Pounds |
|-------------------------|-------------------|----------|--------|----------|--------------|--------------|
| Species: | Steelhead | | | Egg Take | | |
| Run: | Winter-Late | | | | | |
| Stock: | LEWIS R 27.0168 | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 75,000 | 13,636 |
| Estimated Brood Data | <u>1</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer Da | <u>ata</u> | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------|-----------|--------|
| 04/2025 | 05/2025 | 75,000 | 5.5 | 13,636 | JUVENILE | LEWIS R 27.0168 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release size is 5-8 FPP.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | Total # | Total Pounds |
|------------------------|----------------------------|--------|----------|--------------|--------------|
| Species: | Steelhead | | Egg Take | | |
| Run: | Winter-Late | | | | |
| Stock: | LEWIS R 27.0168 | | Shipping | | |
| Brood Origin: | WILD | | Received | | |
| Integrated/Segregated: | INTEGRATED | | Planted | 50,000 | 8,333 |
| Estimated Brood Dat | <u>a</u> | L | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | <u>ata</u> | | | | |
| Shipped or Received St | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 05/2025 | 06/2025 | 50,000 | 6.0 | 8,333 | JUVENILE | LEWIS R -NF 27.0168 | | |

Memo: Program implementation is dependent on legal authority and funding. Release size is 5 to 8 fpp.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Steelhead | | 425.000 | |
| Run: | Summer | Egg Take | 425,000 | |
| Stock: | MERWIN HATCHERY | Shipping | 63,000 | 9,000 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 200,000 | 36,364 |
| | | | | |

Estimated Brood Data

Egg Take Goal 425,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|--------------|------------|
| Shipped | 03/2026 | 03/2026 | ECHO NP (LEWIS R-NF) | 63,000 | 7.0 | 9,000 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------|-----------|--------|
| 04/2026 | 05/2026 | 200,000 | 5.5 | 36,364 | JUVENILE | LEWIS R 27.0168 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | | | Total # | Total Pounds |
|------------------------|--------------------------|----------|--------|----------|--------------|--------------|
| Species: Run: | Steelhead Winter-Late | | | Egg Take | 120,000 | |
| Stock: | LEWIS R 27.0168 | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 75,000 | 13,636 |
| Estimated Brood Data | <u>a</u> | | | L | | |
| Egg Take Goal 120 | ,000 | | | | | |
| Estimated Transfer D | <u>ata</u> | | | | | |
| Shipped or Received St | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------|-----------|--------|
| 04/2026 | 05/2026 | 75,000 | 5.5 | 13,636 | JUVENILE | LEWIS R 27.0168 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release size is 5-8 FPP.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | | | Total # | Total Pounds |
|------------------------|--------------------------------|----------|--------|----------|--------------|--------------|
| Species: | Steelhead | | | Egg Take | 115,000 | |
| Run: Stock: | Winter-Late LEWIS R 27.0168 | | | Shipping | | |
| Brood Origin: | WILD | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 50,000 | 8,333 |
| Estimated Brood Dat | <u>a</u> | | | L | | 1 |
| Egg Take Goal 115 | ,000 | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received St | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 05/2026 | 06/2026 | 50,000 | 6.0 | 8,333 | JUVENILE | LEWIS R -NF 27.0168 | | |

Memo: Program implementation is dependent on legal authority and funding. Release size is 5 to 8 fpp.

MOSSYROCK ES(MOSSYRO

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | COWLITZ R 26.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------------|--------|-----|--------------|------------|
| Received | 01/2025 | 01/2025 | COWLITZ SALMON HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 04/2025 | 04/2025 | 225 | 500.0 | 0 | JUVENILE | COWLITZ R 26.0002 | | |

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2022 Database | | | Total # | Total Pounds |
|---------------------|------------------------------|--------|--------|--------------|--------------|
| Species: Run: | Rainbow NA | Eg | g Take | | |
| Stock: | SPRING CR-GOLDENDALE | Sh | ipping | | |
| Brood Origin: | HATCHERY | Re | ceived | | |
| Integrated/Segregat | ed: | Pla | anted | 6,000 | 7,500 |
| Estimated Brood | Data | | | | |
| Egg Take Goal | | | | | |
| Estimated Transf | er Data | | | | |
| Shipped or Received | Start Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------|
| 10/2024 | 10/2024 | 3,000 | 0.8 | 3,750 | JUVENILE | COWLITZ CO LAKES | | |
| 10/2024 | 10/2024 | 3,000 | 0.8 | 3,750 | JUVENILE | LEWIS CO LAKES | | |

Memo: Program implementation is dependent on legal authority and funding. 6,000 Fish used for Regional Derbies at 2.5 fpp

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 Drawn Trout | | | | Total # | Total Pounds |
|--|-----------------------|----------|--------|----------|--------------|--------------|
| Species: Run: | Brown Trout NA | | | Egg Take | | |
| Stock: | FORD STOCK | | | Shipping | | |
| Brood Origin: | HATCHERY | | | Received | | |
| have such as the s | | | | 12,000 | 4,800 | |
| Estimated Brood | l Data | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Trans | fer Data | | | | | |
| Shipped or Received | d Start Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------|
| 04/2025 | 05/2025 | 6,000 | 2.5 | 2,400 | JUVENILE | COWLITZ CO LAKES | | |
| 09/2025 | 09/2025 | 6,000 | 2.5 | 2,400 | JUVENILE | LEWIS CO LAKES | | |

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|----------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | Egg Taka | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 4,868 | 541 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregate | ed: | Planted | 186,143 | 44,558 |
| Estimated Brood | <u>Data</u> | | | |
| Egg Take Goal | | | | |

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------------|--------|-----|--------------|------------|
| Shipped | 01/2025 | 01/2025 | ONALASKA HS(ONALASK | 4,868 | 9.0 | 541 | JUVENILE |

Memo: Program implementation is dependent on legal authority and funding. 6,000 Fish used for Regional Derbies at 2.5 fpp

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|---------------------------------------|
| Species: | Rainbow | | | · · · · · · · · · · · · · · · · · · · |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 4,868 | 541 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | | Planted | 186,143 | 44,558 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 09/2024 | 09/2024 | 100,000 | 20.0 | 5,000 | JUVENILE | LEWIS CO LAKES | AD | |
| 04/2025 | 04/2025 | 10,799 | 2.5 | 4,320 | JUVENILE | COWLITZ CO LAKES | | |
| 04/2025 | 04/2025 | 25,094 | 2.5 | 10,038 | JUVENILE | LEWIS CO LAKES | | |
| 04/2025 | 04/2025 | 9,125 | 2.5 | 3,650 | JUVENILE | MINERAL LK (LEWI) | | |
| 04/2025 | 04/2025 | 26,000 | 2.5 | 10,400 | JUVENILE | THURSTON CO LAKES | | |
| 07/2025 | 07/2025 | 9,125 | 2.5 | 3,650 | JUVENILE | CLEAR LK (YAKI) | | |
| 10/2025 | 10/2025 | 3,000 | 0.8 | 3,750 | JUVENILE | COWLITZ CO LAKES | | |
| 10/2025 | 10/2025 | 3,000 | 0.8 | 3,750 | JUVENILE | LEWIS CO LAKES | | |

Memo: Program implementation is dependent on legal authority and funding. 6,000 Fish used for Regional Derbies at 2.5 fpp

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|---------------------|-------------|----------|---------|--------------|
| Species: | Brown Trout | | | |
| Run: | NA | Egg Take | | |
| Stock: | FORD STOCK | Shipping | | |
| Brood Origin: | HATCHERY | Received | 17,500 | 0 |
| Integrated/Segregat | ed: | Planted | 12,000 | 4,800 |
| | | | | |

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------|--------|-----|--------------|------------|
| Received | 11/2024 | 11/2024 | FORD HATCHERY | 17,500 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------|
| 04/2026 | 05/2026 | 6,000 | 2.5 | 2,400 | JUVENILE | COWLITZ CO LAKES | | |
| 09/2026 | 09/2026 | 6,000 | 2.5 | 2,400 | JUVENILE | LEWIS CO LAKES | | |

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: Run: Stock: | 2024 Cutthroat Westslope KING LK (PEND) | | | Egg Take Shipping | Total # | Total Pounds |
|---|--|----------|--------|----------------------|--------------|--------------|
| Stock. Brood Origin: Integrated/Segregated: | HATCHERY | | | Received Planted | 13,000 | 52 |
| Estimated Brood Data Egg Take Goal | <u>a</u> | | | | | |
| Estimated Transfer Da Shipped or Received Sta | ata art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------|-----------|--------|
| 09/2024 | 09/2024 | 13,000 | 250.0 | 52 | JUVENILE | LEWIS CO LAKES | | |

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|----------------------|----------------|----------|---------|--------------|
| Species: | Cutthroat | | | |
| Run: | Westslope | Egg Take | | |
| Stock: | KING LK (PEND) | Shipping | | |
| Brood Origin: | WILD | Received | 15,000 | 0 |
| Integrated/Segregate | ed: | Planted | 13,000 | 52 |
| | | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|--------------|------------|
| Received | 05/2024 | 05/2024 | SPOKANE HATCHERY | 15,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------|-----------|--------|
| 09/2024 | 09/2024 | 13,000 | 250.0 | 52 | JUVENILE | LEWIS CO LAKES | | |

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | Fee Take | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 4,868 | 541 |
| Brood Origin: | HATCHERY | Received | 250,000 | 0 |
| Integrated/Segregated: | | Planted | 186,143 | 44,558 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------------|---------|-----|---------------------|------------|
| Received | 12/2024 | 12/2024 | GOLDENDALE HATCHERY | 250,000 | | 0 | EGGS EYED |
| Shipped | 01/2026 | 01/2026 | ONALASKA HS(ONALASK | 4,868 | 9.0 | 541 | JUVENILE |

Memo: Program implementation is dependent on legal authority and funding. 6,000 Fish used for Regional Derbies at 2.5 fpp

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | c . Ŧ 1 | | Total Total |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | 4,868 | 541 |
| Brood Origin: | HATCHERY | Received | 250,000 | 0 |
| Integrated/Segregated: | | Planted | 186,143 | 44,558 |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 09/2025 | 09/2025 | 100,000 | 20.0 | 5,000 | JUVENILE | LEWIS CO LAKES | AD | |
| 04/2026 | 04/2026 | 10,799 | 2.5 | 4,320 | JUVENILE | COWLITZ CO LAKES | | |
| 04/2026 | 04/2026 | 25,094 | 2.5 | 10,038 | JUVENILE | LEWIS CO LAKES | | |
| 04/2026 | 04/2026 | 9,125 | 2.5 | 3,650 | JUVENILE | MINERAL LK (LEWI) | | |
| 04/2026 | 04/2026 | 26,000 | 2.5 | 10,400 | JUVENILE | THURSTON CO LAKES | | |
| 07/2026 | 07/2026 | 9,125 | 2.5 | 3,650 | JUVENILE | CLEAR LK (YAKI) | | |
| 10/2026 | 10/2026 | 3,000 | 0.8 | 3,750 | JUVENILE | COWLITZ CO LAKES | | |
| 10/2026 | 10/2026 | 3,000 | 0.8 | 3,750 | JUVENILE | LEWIS CO LAKES | | |

Memo: Program implementation is dependent on legal authority and funding. 6,000 Fish used for Regional Derbies at 2.5 fpp

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|--------------|
| Species: | Steelhead | Faa Taka | | |
| Run: | Summer | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | 100,000 | 4,000 |
| Brood Origin: | WILD | Received | | |
| Integrated/Segregated: | INTEGRATED | Planted | | |
| Estimated Brood Data | 2 | | | |

Egg Take Goal

Estimated Transfer Data

| tart Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage | |
|------------|----------|------------|--------------|------------|--------------|------------|--------------|------------|------------|
| 1/2024 | 12/2024 | FALLERT | CR HATCHERY | | 100,000 | 25.0 | 4,000 | JUVENILE | 3 |
| | | | | | | | | | |
| <u>ata</u> | | | | | | | | | |
| Num Relea | ase FP | р | Total Pounds | Life Stage | Release Site | | Mark T | ype 1 | Tagged |
| | ata | <u>ata</u> | <u>ata</u> | <u>ata</u> | <u>ata</u> | <u>ata</u> | <u>ata</u> | <u>ata</u> | <u>ata</u> |

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|----------------------|
| Species: | Steelhead | I | 10001 | Total Total Total as |
| Run: | Winter-Late | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | 54,000 | 1,543 |
| Brood Origin: | WILD | Received | | |
| Integrated/Segregated: | INTEGRATED | Planted | | |
| Estimated Brood Data | <u>a</u> | | | |

Egg Take Goal

Estimated Transfer Data

| | | | | FPP To | tal Pounds | Life Stage |
|--------------|---------------------|------------------|----------|----------|------------|------------|
| 2024 12/2024 | FALLERT CR HATCHERY | | 54,000 | 35.0 | 1,543 | JUVENILE |
| | | | | | | |
| a | | | | | | |
| Num Release | PP Total Pounds | Life Stage Relea | ase Site | | Mark T | ype Tagg |
| 2 | <u>a</u> | <u>a</u> | <u>a</u> | <u>a</u> | <u>a</u> | <u>a</u> |

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|----------------------|----------------|----------|---------|--------------|
| Species: | Cutthroat | | | |
| Run: | Westslope | Egg Take | | |
| Stock: | KING LK (PEND) | Shipping | | |
| Brood Origin: | WILD | Received | 15,000 | 0 |
| Integrated/Segregate | ed: | Planted | 13,000 | 52 |
| | | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|---------------------|------------|
| Received | 05/2025 | 05/2025 | SPOKANE HATCHERY | 15,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------|-----------|--------|
| 09/2025 | 09/2025 | 13,000 | 250.0 | 52 | JUVENILE | LEWIS CO LAKES | | |

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|--------------|
| Species: | Steelhead | | Total # | |
| Run: | Summer | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | 100,000 | 4,000 |
| Brood Origin: | WILD | Received | 130,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------|----------------|------------|--------------|-------|---------------------|-------------|
| Received | 03/2025 | 04/2025 | KALA | MA FALLS HATCH | HERY | 130,000 | | 0 | EGGS EYED |
| Shipped | 11/2025 | 12/2025 | FALLE | RT CR HATCHER | 100,000 | 25.0 | 4,000 | JUVENILE | |
| Estimated Releas | | elease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Type Tagged |

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|------------------|----------|---------|--------------|
| Species: | Steelhead | | | Total Total |
| Run: | Winter-Late | Egg Take | | |
| Stock: | KALAMA R 27.0002 | Shipping | 54,000 | 1,543 |
| Brood Origin: | WILD | Received | 60,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------|----------------|------------|--------------|-------|--------------|-------------|
| Received | 05/2025 | 05/2025 | KALA | MA FALLS HATCH | IERY | 60,000 | | 0 | EGGS EYED |
| Shipped | 11/2025 | 12/2025 | FALLE | ERT CR HATCHER | 54,000 | 35.0 | 1,543 | JUVENILE | |
| Estimated Releas | | elease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Гуре Tagged |

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

NORTH TOUTLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: | 2023 Coho | | | | Total # | Total Pounds |
|-------------------------|---------------------------|----|--------|----------------------|--------------|--------------|
| Run: | Type S | | | Egg Take | | |
| Stock: Brood Origin: | TOUTLE R 26.0227 MIXED | | | Shipping Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 90,000 | 6,000 |
| Estimated Brood Data | <u>l</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | rt Date End Date Facilit | ty | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 05/2025 | 05/2025 | 45,000 | 15.0 | 3,000 | JUVENILE | GREEN R 26.0323 | AD | |
| 05/2025 | 05/2025 | 45,000 | 15.0 | 3,000 | JUVENILE | GREEN R 26.0323 | AD | \checkmark |

NORTH TOUTLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | Total # | Total Pounds |
|-------------------------|-------------------|----------|--------|----------|--------------|--------------|
| Species: Run: | Chinook Fall | | | Egg Take | 1,300,000 | |
| Stock: | TOUTLE R 26.0227 | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 1,100,000 | 13,750 |
| Estimated Brood Data | <u>a</u> | | | | | |
| Egg Take Goal 1,30 | 0,000 | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 06/2025 | 07/2025 | 1,000,000 | 80.0 | 12,500 | JUVENILE | GREEN R 26.0323 | AD | |
| 06/2025 | 07/2025 | 100,000 | 80.0 | 1,250 | JUVENILE | GREEN R 26.0323 | AD | \checkmark |

NORTH TOUTLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: | 2024 Coho | | | | Total # | Total Pounds |
|-------------------------|-------------------|----------|--------|----------|--------------|--------------|
| Run: | Type S | | | Egg Take | 180,000 | |
| Stock: | TOUTLE R 26.0227 | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 90,000 | 6,000 |
| Estimated Brood Data | <u>1</u> | | | | | |
| Egg Take Goal 180 | 000 | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-----------------|-----------|--------------|
| 05/2026 | 05/2026 | 45,000 | 15.0 | 3,000 | JUVENILE | GREEN R 26.0323 | AD | |
| 05/2026 | 05/2026 | 45,000 | 15.0 | 3,000 | JUVENILE | GREEN R 26.0323 | AD | \checkmark |

ONALASKA HS(ONALASK

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| | Total # | Total Pounds |
|----------|----------|----------------------------|
| | | |
| Egg Take | | |
| Shipping | | |
| Received | 4,868 | 541 |
| Planted | 4,868 | 2,434 |
| | Received | Shipping Received 4,868 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|--------------|------------|
| Received | 01/2025 | 01/2025 | MOSSYROCK HATCHERY | 4,868 | 9.0 | 541 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------|
| 04/2025 | 04/2025 | 4,868 | 2.0 | 2,434 | JUVENILE | CARLISLE LK (LEWI) | | |

ONALASKA HS(ONALASK

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| | Total # | Total Pounds |
|----------|----------|----------------------------|
| | | |
| Egg Take | | |
| Shipping | | |
| Received | 4,868 | 541 |
| Planted | 4,868 | 2,434 |
| | Received | Shipping Received 4,868 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|--------------|------------|
| Received | 01/2026 | 01/2026 | MOSSYROCK HATCHERY | 4,868 | 9.0 | 541 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------|-----------|--------|
| 04/2026 | 04/2026 | 4,868 | 2.0 | 2,434 | JUVENILE | CARLISLE LK (LEWI) | | |

ORIN SMITH ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | NA | Egg Take | | |
| Stock: | SKOOKUMCHUCK 23.0761 | Shipping | | |
| Brood Origin: | MIXED | Received | 250 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|--------|-----|---------------------|------------|
| Received | 01/2024 | 01/2024 | SKOOKUMCHUCK HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 05/2024 | 05/2024 | 225 | 500.0 | 0 | JUVENILE | NEWAUKUM CR 09.0114 | | |

ORIN SMITH ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Coho | Fee Tele | | |
| Run: | NA | Egg Take | | |
| Stock: | SKOOKUMCHUCK 23.0761 | Shipping | | |
| Brood Origin: | MIXED | Received | 250 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 200 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | SKOOKUMCHUCK HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 05/2025 | 05/2025 | 200 | 500.0 | 0 | JUVENILE | NEWAUKUM CR 09.0114 | | |

PETERSON PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Chum | Faa Taka | | |
| Run: | NA | Egg Take | | |
| Stock: | GRAYS R 25.0093 | Shipping | | |
| Brood Origin: | MIXED | Received | 40,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 38,000 | 84 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|--------------|------------|
| Received | 11/2024 | 11/2024 | BEAVER CR HATCHERY | 40,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------------|-----------|--------|
| 05/2025 | 05/2025 | 38,000 | 454.0 | 84 | JUVENILE | COLUMBIA R - GENERAL | | |

ROSE VALLEY ES(KELSO

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | Type N | | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|--------|-----|--------------|------------|
| Received | 01/2024 | 01/2024 | KALAMA FALLS HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|------------------|-----------|--------|
| 04/2024 | 04/2024 | 225 | 500.0 | 0 | JUVENILE | KALAMA R 27.0002 | | |

SEA RESOURCES HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|---------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | 500 | 50 |
| Integrated/Segregat | ed: | Planted | 300 | 909 |
| Estimated Brood | Data | | | |

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------|--------|------|--------------|------------|
| Received | 10/2024 | 10/2024 | EELLS SPRINGS | 500 | 10.0 | 50 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------|-----------|--------|
| 04/2026 | 04/2026 | 300 | 0.3 | 909 | JUVENILE | BLACK LK (PACI) | | |

SEA RESOURCES HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|----------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | 500 | 50 |
| Integrated/Segregate | ed: | Planted | 300 | 909 |
| Ectimated Broad | Data | | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------|--------|------|--------------|------------|
| Received | 10/2025 | 10/2025 | EELLS SPRINGS | 500 | 10.0 | 50 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------|-----------|--------|
| 04/2027 | 04/2027 | 300 | 0.3 | 909 | JUVENILE | BLACK LK (PACI) | | |

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated: | 2023 Cutthroat Resident Coastal SKAMANIA HATCHERY HATCHERY | | Egg Take Shipping Received Planted | Total # 2,000 | Total Pounds |
|--|--|--------|---|-------------------------|--------------|
| Estimated Brood Dat Egg Take Goal | <u>l</u> | | | | |
| Estimated Transfer D Shipped or Received St | ata art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 09/2024 | 09/2024 | 2,000 | 1.8 | 1,111 | JUVENILE | SKAMANIA CO LAKES | | |

Memo: Program implementation is dependent on legal authority and funding. Funded by Clark County PUD.

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Species: Cuttmoat Run: Resident Coastal Stock: SKAMANIA HATCHERY Brood Origin: HATCHERY Integrated/Segregated: Planted Estimated Brood Data Egg Take Goal 40,000 | Brood Year: | 2024 | | | Total # | Total Pounds |
|--|---------------------|-------------------------------|--------|-------|--------------|--------------|
| Brood Origin: HATCHERY Integrated/Segregated: Planted Estimated Brood Data | Species: Run: | Cutthroat Resident Coastal | | | 40,000 | |
| Estimated Brood Data | | | | | | |
| | - | ed: | Pla | anted | 16,000 | 7,038 |
| | | | | | | |
| | | | | | | |
| Estimated Transfer Data | Shipped or Received | Start Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 02/2025 | 03/2025 | 8,000 | 2.5 | 3,200 | JUVENILE | CLARK CO LAKES | | |
| 05/2025 | 06/2025 | 6,000 | 2.2 | 2,727 | JUVENILE | SKAMANIA CO LAKES | | |
| 09/2025 | 09/2025 | 2,000 | 1.8 | 1,111 | JUVENILE | SKAMANIA CO LAKES | | |

Memo: Program implementation is dependent on legal authority and funding. Funded by Clark County PUD.

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | 179,000 | 5,162 |
| Brood Origin: | HATCHERY | Received | 115,000 | 1,533 |
| Integrated/Segregated: | SEGREGATED | Planted | 160,000 | 29,091 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or I | Received | Start Date | End Date | Facilit | y | | Number | FPP | Total Pounds | Life Sta | ge |
|------------------|----------|-------------|----------|---------|-------------------------|------------|-------------------|------|--------------|----------|--------|
| Shipped | | 01/2024 | 01/2024 | VANO | COUVER HATCHE | RY | 125,000 | | 0 | EGGS | EYED |
| Received | | 06/2024 | 06/2024 | VANO | COUVER HATCHE | RY | 115,000 | 75.0 | 1,533 | JUVEN | IILE |
| Shipped | | 11/2024 | 11/2024 | BEAV | ER CR HATCHER | Y | 33,500 | 15.0 | 2,233 | JUVEN | IILE |
| Shipped | | 03/2025 | 03/2025 | SOUT | SOUTH FORK TOUTLE PONDS | | 20,500 | 7.0 | 2,929 | JUVEN | IILE |
| Estimated | Release | <u>Data</u> | | | | | | | | | |
| Start Date | End Date | Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |
| 04/2025 | 05/2025 | 90 | ,000 | 5.5 | 16,364 | JUVENILE | KLICKITAT R 30.00 | 02 | AD | | |
| 04/2025 | 05/2025 | 70 | ,000 | 5.5 | 12,727 | JUVENILE | WASHOUGAL R 28. | 0159 | AD | | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------------|----------|---------|--------------|
| Species: | Steelhead | C T-lus | | |
| Run: | Winter | Egg Take | | |
| Stock: | KALAMA FALLS HATCHERY | Shipping | 41,000 | 3,417 |
| Brood Origin: | HATCHERY | Received | 50,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|------------|--------------|------|--------------|-------------|
| Received | 05/2024 | 05/2024 | KALAMA FALLS HATC | HERY | 50,000 | | 0 | EGGS EYED |
| Shipped | 03/2025 | 03/2025 | KLINELINE PONDS | | 41,000 | 12.0 | 3,417 | JUVENILE |
| Estimated Release | | lease | FPP Total Pounds | Life Stage | Release Site | | Mark | Type Tagged |

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Stockhood | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: Run: | Steelhead Winter | 1 | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | 2 | Shipping | | |
| Brood Origin: | HATCHERY | 1 | Received | | |
| Integrated/Segregated: | SEGREGATED | 1 | Planted | 105,000 | 19,091 |
| Estimated Brood Data | <u>1</u> | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 04/2025 | 05/2025 | 20,000 | 5.5 | 3,636 | JUVENILE | ROCK CR 29.0133 | AD | |
| 04/2025 | 05/2025 | 85,000 | 5.5 | 15,455 | JUVENILE | WASHOUGAL R 28.0159 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15-5/15.

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | 360,000 | |
| Stock: | SKAMANIA HATCHERY | Shipping | 179,000 | 5,162 |
| Brood Origin: | HATCHERY | Received | 115,000 | 1,533 |
| Integrated/Segregated: | SEGREGATED | Planted | 160,000 | 29,091 |

Estimated Brood Data

Egg Take Goal 360,000

Estimated Transfer Data

| Shipped or I | Received | Start Date | End Date | Facilit | y | | Number | FPP | Total Pounds | Life Sta | ge |
|------------------|----------|-------------|----------|---------|-------------------------|------------|-------------------|------|--------------|----------|--------|
| Shipped | | 01/2025 | 01/2025 | VANO | COUVER HATCHE | RY | 125,000 | | 0 | EGGS | EYED |
| Received | | 06/2025 | 06/2025 | VANO | COUVER HATCHE | RY | 115,000 | 75.0 | 1,533 | JUVEN | IILE |
| Shipped | | 11/2025 | 11/2025 | BEAV | VER CR HATCHER | Y | 33,500 | 15.0 | 2,233 | JUVEN | IILE |
| Shipped | | 03/2026 | 03/2026 | SOUT | SOUTH FORK TOUTLE PONDS | | 20,500 | 7.0 | 2,929 | JUVEN | IILE |
| Estimated | Release | <u>Data</u> | | | | | | | | | |
| Start Date | End Date | Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |
| 04/2026 | 05/2026 | 90 | ,000 | 5.5 | 16,364 | JUVENILE | KLICKITAT R 30.00 | 02 | AD | | |
| 04/2026 | 05/2026 | 70 | ,000 | 5.5 | 12,727 | JUVENILE | WASHOUGAL R 28. | 0159 | AD | | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-----------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Winter | Egg Take | | |
| Stock: | KALAMA FALLS HATCHERY | Shipping | 41,000 | 3,417 |
| Brood Origin: | HATCHERY | Received | 50,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | , | | Number | FPP | Total Pounds | Life Stage |
|--|------------|----------|----------|---------------|------------|--------------|------|--------------|-------------|
| Received | 05/2025 | 05/2025 | KALA | MA FALLS HATC | HERY | 50,000 | | 0 | EGGS EYED |
| Shipped | 03/2026 | 03/2026 | KLINE | ELINE PONDS | | 41,000 | 12.0 | 3,417 | JUVENILE |
| Estimated Release Start Date End Da | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Type Tagged |

SKAMANIA HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Species: Run: | Steelhead Winter | | | Egg Take | 157,700 | |
|------------------------|---------------------|----------|--------|----------|--------------|------------|
| Stock: | SKAMANIA HATCHERY | | | Shipping | | |
| Brood Origin: | HATCHERY | | | Received | | |
| Integrated/Segregated: | SEGREGATED | | | Planted | 105,000 | 19,091 |
| Estimated Brood Data | <u>a</u> | | | | | |
| Egg Take Goal 157 | 700 | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received St | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 04/2026 | 05/2026 | 20,000 | 5.5 | 3,636 | JUVENILE | ROCK CR 29.0133 | AD | |
| 04/2026 | 05/2026 | 85,000 | 5.5 | 15,455 | JUVENILE | WASHOUGAL R 28.0159 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15-5/15.

SOUTH FORK TOUTLE PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 20,500 | 2,929 |
| Integrated/Segregated: | SEGREGATED | Planted | 20,000 | 3,636 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|-----|--------------|------------|
| Received | 03/2025 | 03/2025 | SKAMANIA HATCHERY | 20,500 | 7.0 | 2,929 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 04/2025 | 05/2025 | 20,000 | 5.5 | 3,636 | JUVENILE | TOUTLE R-SF 26.0248 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

SOUTH FORK TOUTLE PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | | |
| Brood Origin: | HATCHERY | Received | 20,500 | 2,929 |
| Integrated/Segregated: | SEGREGATED | Planted | 20,000 | 3,636 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|-----|--------------|------------|
| Received | 03/2026 | 03/2026 | SKAMANIA HATCHERY | 20,500 | 7.0 | 2,929 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|---------------------|-----------|--------|
| 04/2026 | 05/2026 | 20,000 | 5.5 | 3,636 | JUVENILE | TOUTLE R-SF 26.0248 | AD | |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 Kokanee | | | | Total # | Total Pounds |
|-------------------------|------------------|----------|--------|----------|--------------|--------------|
| Species: Run: | NA | | | Egg Take | | |
| Stock: | LK MERWIN STOCK | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 93,000 | 12,582 |
| Estimated Brood Data | <u>l</u> | | | <u></u> | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received Sta | rt Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------|
| 10/2024 | 10/2024 | 45,000 | 8.0 | 5,625 | JUVENILE | LK MERWIN (COWL) | | |
| 03/2025 | 03/2025 | 48,000 | 6.9 | 6,957 | JUVENILE | LK MERWIN (COWL) | | |

Memo: Program implementation is dependent on legal authority and funding. Resident program for Lake Merwin.

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|-----------|---------|--------------|
| Species: | Rainbow | Con Talua | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | 45,000 | 3,750 |
| Integrated/Segregated: | SEGREGATED | Planted | 39,500 | 15,800 |

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------|--------|------|--------------|------------|
| Received | 11/2024 | 12/2024 | MERWIN HATCHERY | 45,000 | 12.0 | 3,750 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------------|-----------|--------|
| 05/2025 | 05/2025 | 3,500 | 2.5 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 05/2025 | 05/2025 | 36,000 | 2.5 | 14,400 | JUVENILE | SWIFT RES (SKAM) | AD | |

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------|----------|-----------|--------------|
| Species: | Chinook | Egg Take | 1,875,000 | |
| Run: | Spring | Shipping | 1,410,000 | 32,800 |
| Stock: | | | 1,410,000 | 52,000 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 50,000 | 626 |

Estimated Brood Data

Egg Take Goal 1,875,000

Estimated Transfer Data

| Shipped or | Received | Start Date | End Date | Facilit | y | | Nu | nber | FPP | Total Pounds | Life Sta | ge |
|------------------|----------|-------------|----------|---------|---------------------|------------|-------------|---------|-------|---------------------|----------|--------------|
| Shipped | | 05/2025 | 06/2025 | LEWI | S RIVER HATCHE | RY | 1,05 |),000 | 130.0 | 8,077 | JUVEN | IILE |
| Shipped | | 12/2025 | 12/2025 | LEWI | S RIVER HATCHE | RY | 17 |),000 | 12.0 | 14,167 | JUVEN | IILE |
| Shipped | | 12/2025 | 12/2025 | LEWI | S RIVER HATCHE | RY | 19 |),000 | 18.0 | 10,556 | JUVEN | IILE |
| Estimated | Release | <u>Data</u> | | | | | | | | | | |
| Start Date | End Date | Num Re | lease | FPP | Total Pounds | Life Stage | Release Sit | e | | Mark | Туре | Tagged |
| 06/2025 | 06/2025 | 25 | 5,000 | 80.0 | 313 | JUVENILE | LEWIS R | 27.0168 | | AD | | \checkmark |
| 06/2025 | 06/2025 | 25 | 5,000 | 80.0 | 313 | JUVENILE | LEWIS R | 27.0168 | | | | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Surplus broodstock may be used for increased production for Southern Resident Killer Whales.

Friday, July 26, 2024

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pound |
|------------------------|----------------------|----------|-----------|-------------|
| Species: | Coho | | 1 500 000 | |
| Run: | Type S | Egg Take | 1,500,000 | |
| Stock: | LEWIS RIVER HATCHERY | Shipping | 1,325,000 | 0 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | | |
| Estimated Brood Data | | | | |

Estimateu broou Data

Egg Take Goal 1,500,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stag | e |
|---------------------|------------|----------|----------|---------------|------------|--------------|-----|--------------|-----------|--------|
| Shipped | 11/2024 | 11/2024 | LEWIS F | RIVER HATCHER | Y | 1,325,000 | | 0 | EGGS E | YED |
| | | | | | | | | | | |
| Estimated Releas | e Data | | | | | | | | | |
| Start Date End Da | te Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Гуре | Tagged |

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Kakanaa | | | | Total # | Total Pounds |
|-------------------------|-------------------|----------|--------|----------|---------------------|--------------|
| Species: Run: | Kokanee NA | | | Egg Take | 140,000 | |
| Stock: | LK MERWIN STOCK | | | Shipping | | |
| Brood Origin: | MIXED | | | Received | | |
| Integrated/Segregated: | INTEGRATED | | | Planted | 93,000 | 12,582 |
| Estimated Brood Data | | | | | | |
| | 000 | | | | | |
| Estimated Transfer Da | ata | | | | | |
| Shipped or Received Sta | art Date End Date | Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|------------------|-----------|--------|
| 10/2025 | 10/2025 | 45,000 | 8.0 | 5,625 | JUVENILE | LK MERWIN (COWL) | | |
| 03/2026 | 03/2026 | 48,000 | 6.9 | 6,957 | JUVENILE | LK MERWIN (COWL) | | |

Memo: Program implementation is dependent on legal authority and funding. Resident program for Lake Merwin.

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | Fee Tele | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | 45,000 | 3,750 |
| Integrated/Segregated: | SEGREGATED | Planted | 39,500 | 15,800 |

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------|--------|------|--------------|------------|
| Received | 11/2025 | 12/2025 | MERWIN HATCHERY | 45,000 | 12.0 | 3,750 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------------------|-----------|--------|
| 05/2026 | 05/2026 | 3,500 | 2.5 | 1,400 | JUVENILE | SWIFT POWER CANAL (SKAM) | AD | |
| 05/2026 | 05/2026 | 36,000 | 2.5 | 14,400 | JUVENILE | SWIFT RES (SKAM) | AD | |

SPRING CR NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|------------|--------------|
| Species: | Chinook | c | | |
| Run: | Fall | Egg Take | 15,000,000 | |
| Stock: | SPRING CR 29.0159 | Shipping | 3,011,500 | 65 |
| Brood Origin: | HATCHERY | Received | | |
| Integrated/Segregated: | SEGREGATED | Planted | 10,500,000 | 105,000 |

Estimated Brood Data

Egg Take Goal 15,000,000

Estimated Transfer Data

| Shipped or | Received | Start Date | End Date | Facilit | y | | Number | FPP | Total Pounds | Life St | age |
|------------------|----------|------------|----------|---------|---------------------|------------|-----------------|--------|--------------|---------|--------|
| Shipped | | 10/2024 | 10/2024 | BONN | NEVILLE HATCHE | RY | 3,000,000 | | 0 | EGGS | EYED |
| Shipped | | 10/2024 | 10/2024 | REG : | 5 ED COOPS | | 5,000 | | 0 | EGGS | EYED |
| Shipped | | 04/2025 | 05/2025 | NMFS | S - BONNEVILLE H | IATCHERY | 6,500 | 100.0 | 65 | JUVE | NILE |
| Estimated | Release | Data | | | | | | | | | |
| Start Date | End Date | e Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |
| 04/2025 | 05/2025 | 9,69(|),000 | 100.0 | 96,900 | JUVENILE | COLUMBIA R - GE | ENERAL | AD | | |
| 04/2025 | 05/2025 | 405 | 5,000 | 100.0 | 4,050 | JUVENILE | COLUMBIA R - GE | ENERAL | AD | | |
| 04/2025 | 05/2025 | 405 | 5,000 | 100.0 | 4,050 | JUVENILE | COLUMBIA R - GE | ENERAL | | | |

Memo: On-station sub-yearling release. Double Index Tag groups. Egg shipment to Bonneville Hatchery only if Bonneville Hatchery is short of broodstock or unexpected loss.

Friday, July 26, 2024

ST ROSE SCHL (LONGVI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | Type N | | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|--------|-----|--------------|------------|
| Received | 01/2024 | 01/2024 | KALAMA FALLS HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|------------------|-----------|--------|
| 04/2024 | 04/2024 | 225 | 500.0 | 0 | JUVENILE | KALAMA R 27.0002 | | |

ST ROSE SCHL (LONGVI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | Type N | | | |
| Stock: | KALAMA R HATCH 27.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | KALAMA FALLS HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|------------------|-----------|--------|
| 04/2025 | 04/2025 | 225 | 500.0 | 0 | JUVENILE | KALAMA R 27.0002 | | |

STEVE SYVERSON PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Coho | Fee Take | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 5,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 5,000 | 3 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|--------------|------------|
| Received | 01/2025 | 01/2025 | LEWIS RIVER HATCHERY | 5,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|-------------------|-----------|--------|
| 03/2025 | 03/2025 | 5,000 | 1,500.0 | 3 | JUVENILE | SALMON CR 28.0059 | | |

UNION RIDGE PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|-----------|---------|--------------|
| Species: | Coho | Fee Tales | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 10,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 10,000 | 7 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | LEWIS RIVER HATCHERY | 10,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|----------------|-----------|--------|
| 01/2025 | 01/2025 | 10,000 | 1,500.0 | 7 | JUVENILE | GEE CREEK TRIB | | |

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | Total # Tota | l Pounds |
|----------------------|------------------------------|----------------------------------|----------|
| Species: Run: | Rainbow NA | Egg Take | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | |
| Brood Origin: | HATCHERY | Received | |
| Integrated/Segregate | ed: | Planted 65,000 32,50 | 0 |
| Estimated Brood | Data | | |
| Egg Take Goal | | | |
| Estimated Transf | er Data | | |
| Shipped or Received | Start Date End Date Facility | Number FPP Total Pounds Life Sta | ge |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 12/2024 | 04/2025 | 62,500 | 2.0 | 31,250 | JUVENILE | CLARK CO LAKES | | |
| 12/2024 | 04/2025 | 2,500 | 2.0 | 1,250 | JUVENILE | SKAMANIA CO LAKES | | |

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Chum | Can Taka | | |
| Run: | NA | Egg Take | | |
| Stock: | COLUMBIA R - GENERAL | Shipping | | |
| Brood Origin: | WILD | Received | 115,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 115,000 | 575 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|-----|--------------|------------|
| Received | 12/2024 | 01/2025 | WASHOUGAL HATCHERY | 115,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------------|-----------|--------|
| 04/2025 | 05/2025 | 115,000 | 200.0 | 575 | JUVENILE | COLUMBIA R - GENERAL | | |

Memo: Program implementation is dependent on legal authority and funding. Duncan Population. Dependent on success of broodstock.

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|------------|----------|---------|--------------|
| Species: | Chum | | | |
| Run: | NA | Egg Take | | |
| Stock: | I-205 | Shipping | | |
| Brood Origin: | WILD | Received | 115,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 115,000 | 575 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|--------------------|---------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | WASHOUGAL HATCHERY | 115,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 04/2025 | 05/2025 | 115,000 | 200.0 | 575 | JUVENILE | LEWIS R -EF 27.0173 | | |

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Rainbow | Fee Take | | |
| Run: | NA | Egg Take | | |
| Stock: | SPRING CR-GOLDENDALE | Shipping | | |
| Brood Origin: | HATCHERY | Received | 70,000 | 0 |
| Integrated/Segregated: | | Planted | 65,000 | 32,500 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|---------------------|--------|-----|--------------|------------|
| Received | 12/2024 | 12/2024 | GOLDENDALE HATCHERY | 70,000 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 12/2025 | 04/2026 | 62,500 | 2.0 | 31,250 | JUVENILE | CLARK CO LAKES | | |
| 12/2025 | 04/2026 | 2,500 | 2.0 | 1,250 | JUVENILE | SKAMANIA CO LAKES | | |

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | Fee Take | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | 115,000 | 1,533 |
| Brood Origin: | HATCHERY | Received | 125,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------|--------------|------------|--------------|------|---------------------|-------------|
| Received | 01/2024 | 01/2024 | SKAMAN | NIA HATCHERY | | 125,000 | | 0 | EGGS EYED |
| Shipped | 06/2024 | 06/2024 | SKAMAN | NIA HATCHERY | | 115,000 | 75.0 | 1,533 | JUVENILE |
| Estimated Release | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Type Tagged |

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2025 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Steelhead | | | |
| Run: | Summer | Egg Take | | |
| Stock: | SKAMANIA HATCHERY | Shipping | 115,000 | 1,533 |
| Brood Origin: | HATCHERY | Received | 125,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage | |
|---------------------|------------|----------|----------|--------------|------------|--------------|------|--------------|------------|--------|
| Received | 01/2025 | 01/2025 | SKAMA | NIA HATCHERY | | 125,000 | | 0 | EGGS EY | ΈD |
| Shipped | 06/2025 | 06/2025 | SKAMA | NIA HATCHERY | | 115,000 | 75.0 | 1,533 | JUVENIL | Æ |
| Estimated Release | | | | | | | | | | |
| Start Date End Dat | te Num Re | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |

WASHINGTON ES(CENTRA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | NA | | | |
| Stock: | SKOOKUMCHUCK 23.0761 | Shipping | | |
| Brood Origin: | MIXED | Received | 250 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | ipped or Received Start Date End Date Facility | | Number | FPP | Total Pounds | Life Stage | |
|---------------------|--|---------|-----------------------|-----|--------------|------------|-----------|
| Received | 01/2024 | 01/2024 | SKOOKUMCHUCK HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 05/2024 | 05/2024 | 225 | 500.0 | 0 | JUVENILE | NEWAUKUM CR 09.0114 | | |

Memo:

Friday, July 26, 2024

WASHINGTON ES(CENTRA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|---------|--------------|
| Species: | Coho | Egg Tako | | |
| Run: | NA | Egg Take | | |
| Stock: | SKOOKUMCHUCK 23.0761 | Shipping | | |
| Brood Origin: | MIXED | Received | 250 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | 225 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received Start Date End Date | | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---|---------|----------|-----------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | SKOOKUMCHUCK HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 05/2025 | 05/2025 | 225 | 500.0 | 0 | JUVENILE | NEWAUKUM CR 09.0114 | | |

Memo:

Friday, July 26, 2024

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Faa Tako | | |
| Run: | Туре N | Egg Take | | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | 350,000 | 11,667 |
| Brood Origin: | HATCHERY | Received | 450,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage |
|--|------------|----------|----------|---------------|---|---------|------|---------------------|------------|
| Received | 01/2024 | 01/2024 | BEAVE | R CR HATCHERY | 7 | 450,000 | | 0 | EGGS EYED |
| Shipped | 11/2024 | 11/2024 | DEEP R | NET PENS | | 350,000 | 30.0 | 11,667 | JUVENILE |
| <u>Estimated Release Data</u> Start Date End Date Num Release FPP Total Pounds Life Stage Release Site Mark Type Tagged | | | | | | | | | |

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 Cable | | | | Total # | Total Pounds |
|------------------------|----------------------|---------|--------|----------|--------------|--------------|
| Species: Run: | Coho Type N | | | Egg Take | | |
| Stock: | LEWIS R 27.0168 | | | Shipping | | |
| Brood Origin: | HATCHERY | | | Received | | |
| Integrated/Segregated: | SEGREGATED | | | Planted | 1,250,000 | 62,500 |
| Estimated Brood Dat | <u>a</u> | | | | | |
| Egg Take Goal | | | | | | |
| Estimated Transfer D | ata | | | | | |
| Shipped or Received St | art Date End Date Fa | acility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------|
| 04/2025 | 04/2025 | 1,250,000 | 20.0 | 62,500 | JUVENILE | KLICKITAT R 30.0002 | AD | |

Memo: Program implementation is dependent on legal authority and funding. The 3 million will backfill if Washougal stock is not available for releases. May backfill with Kalama and Cowlitz stock.

Friday, July 26, 2024

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: Species: | 2023 Coho | | | Total # | Total Pounds |
|-------------------------|----------------------------|--------|-------|--------------|--------------|
| Run: | Type N | | Take | | |
| Stock: | WASHOUGAL HATCHERY | Ship | ping | | |
| Brood Origin: | HATCHERY | Rece | eived | | |
| Integrated/Segregated: | SEGREGATED | Plan | ted | 1,250,000 | 62,500 |
| Estimated Brood Dat | <u>a</u> | | | | |
| Egg Take Goal | | | | | |
| Estimated Transfer D | ata | | | | |
| | art Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 04/2025 | 04/2025 | 1,180,000 | 20.0 | 59,000 | JUVENILE | KLICKITAT R 30.0002 | AD | |
| 04/2025 | 04/2025 | 70,000 | 20.0 | 3,500 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Remaining Klickitat River production planted at RM 8. Will be Lewis Stock if Washougal Stock in not available. Washougal Hatchery is used as primary stock, Lewis stock to be used when production goals are not met.

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | 250 | 0 |
| Brood Origin: | MIXED | Received | | |
| Integrated/Segregated: | INTEGRATED | Planted | 108,000 | 7,200 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------|--------|-----|---------------------|------------|
| Shipped | 03/2024 | 03/2024 | CITY OF VANCOUVER | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 05/2025 | 06/2025 | 63,000 | 15.0 | 4,200 | JUVENILE | WASHOUGAL R 28.0159 | AD | |
| 05/2025 | 06/2025 | 45,000 | 15.0 | 3,000 | JUVENILE | WASHOUGAL R 28.0159 | AD | \checkmark |

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | | Total # | Total Pounds |
|----------------------|-------------|----------------|--------------------|---------|----------|---------------------|--------------|
| Species: | Chum | | | | Egg Take | 400,000 | |
| Run: | NA | | | | | | |
| Stock: | COLUM | BIA R - GENERA | AL | | Shipping | 115,000 | 0 |
| Brood Origin: | WILD | | | | Received | | |
| Integrated/Segregate | d: INTEGR | ATED | | | Planted | | |
| Estimated Brood I | <u>Data</u> | | | | L | 1 | 1 |
| Egg Take Goal | 400,000 | | | | | | |
| Estimated Transfe | er Data | | | | | | |
| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
| Shipped | 12/2024 | 01/2025 | VANCOUVER HATCHERY | 115,000 | | 0 | EGGS EYED |
| | | | | | | | |
| | | | | | | | |
| Estimated Release | Dete | | | | | | |

Life Stage

Total Pounds

Release Site

| Memo: | Program implementation is dependent on legal authority and funding. | Released into Columbia & tributaries near Bonneville. Take up to 400,000. | Dependent |
|-------|---|---|-----------|
| | upon broodstock collection. | | |

Friday, July 26, 2024

Start Date

End Date

Num Release

FPP

Tagged

Mark Type

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| num | | Total # | Total Pounds |
|-----------|----------|-------------------------------|---|
| | Egg Take | 120,000 | |
| 205 | Shipping | 115,000 | 0 |
| 'ILD | Received | | |
| ITEGRATED | Planted | | |
| 2 2 | 05 LD | Egg Take 05 LD Received | Egg Take120,00005Shipping115,000LDReceivedImage: constraint of the second |

Estimated Brood Data

Egg Take Goal 120,000

Estimated Transfer Data

| | Facility | Number | FPP Total F | Pounds L | Life Stage |
|-------------|--------------------|-------------------------|-------------|------------|------------|
| 025 01/2025 | VANCOUVER HATCHERY | 115,000 | | 0 E | EGGS EYED |
| | | | | | |
| I | | | | | |
| | PP Total Pounds | Life Stage Release Site | | Mark Typ | pe Tagged |
| <u> </u> | | | | | |

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Chinaalu | | | Total # | Total Pounds |
|-------------------------|---------------------------|--------|----------|---------------------|--------------|
| Species: Run: | Chinook Fall | | Egg Take | 1,600,000 | |
| Stock: | WASHOUGAL HATCHERY | | Shipping | | |
| Brood Origin: | MIXED | | Received | | |
| Integrated/Segregated: | INTEGRATED | | Planted | 1,200,000 | 15,000 |
| Estimated Brood Data | <u>L</u> | - | | | |
| Egg Take Goal 1,60 | 0,000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received Sta | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 06/2025 | 06/2025 | 1,100,000 | 80.0 | 13,750 | JUVENILE | WASHOUGAL R 28.0159 | AD | |
| 06/2025 | 06/2025 | 100,000 | 80.0 | 1,250 | JUVENILE | WASHOUGAL R 28.0159 | AD | \checkmark |

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Faa Tako | | |
| Run: | Туре N | Egg Take | | |
| Stock: | ELOCHOMAN R 25.0236 | Shipping | 350,000 | 11,667 |
| Brood Origin: | HATCHERY | Received | 450,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | | | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|----------|----------------|------------|--------------|------|---------------------|-------------|
| Received | 01/2025 | 01/2025 | BEAV | ER CR HATCHERY | ľ | 450,000 | | 0 | EGGS EYED |
| Shipped | 11/2025 | 11/2025 | DEEP | R NET PENS | | 350,000 | 30.0 | 11,667 | JUVENILE |
| Estimated Release | | lease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Type Tagged |

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|-----------|--------------|
| Species: | Coho | | | |
| Run: | Type N | Egg Take | | |
| Stock: | LEWIS R 27.0168 | Shipping | 1,300,000 | 0 |
| Brood Origin: | HATCHERY | Received | 2,923,000 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 1,250,000 | 62,500 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or | Received | Start Date | End Date | Facility | 1 | | Number | FPP | Total Pounds | Life St | age |
|------------------|----------|-------------|----------|----------|---------------------|------------|---------------------|-----|--------------|---------|--------|
| Received | | 11/2024 | 12/2024 | LEWI | S RIVER HATCHE | RY | 1,423,000 | | 0 | EGGS | GREEN |
| Received | | 11/2024 | 12/2024 | LEWIS | S RIVER HATCHE | RY | 1,500,000 | | 0 | EGGS | GREEN |
| Shipped | | 01/2025 | 01/2025 | KLIC | KITAT HATCHERY | Y (YKFP) | 1,300,000 | | 0 | EGGS | EYED |
| Estimated | Release | <u>Data</u> | | | | | | | | | |
| Start Date | End Date | e Num Re | elease | FPP | Total Pounds | Life Stage | Release Site | | Mark | Туре | Tagged |
| 04/2026 | 04/2026 | 1,25 | 0,000 | 20.0 | 62,500 | JUVENILE | KLICKITAT R 30.0002 | 2 | AD | | |

Memo: Program implementation is dependent on legal authority and funding. The 3 million will backfill if Washougal stock is not available for releases. May backfill with Kalama and Cowlitz stock.

Friday, July 26, 2024

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 Coho | | | Total # | Total Pounds |
|------------------------|---------------------------|--------|----------|--------------|--------------|
| Species: Run: | Type N | | Egg Take | 1,500,000 | |
| Stock: | WASHOUGAL HATCHERY | | Shipping | | |
| Brood Origin: | HATCHERY | | Received | | |
| Integrated/Segregated: | SEGREGATED | | Planted | 1,250,000 | 62,500 |
| Estimated Brood Dat | <u>L</u> | | | | |
| Egg Take Goal 1,50 | 0,000 | | | | |
| Estimated Transfer D | ata | | | | |
| Shipped or Received St | rt Date End Date Facility | Number | FPP | Total Pounds | Life Stage |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 04/2026 | 04/2026 | 1,180,000 | 20.0 | 59,000 | JUVENILE | KLICKITAT R 30.0002 | AD | |
| 04/2026 | 04/2026 | 70,000 | 20.0 | 3,500 | JUVENILE | KLICKITAT R 30.0002 | AD | \checkmark |

Memo: Program implementation is dependent on legal authority and funding. Remaining Klickitat River production planted at RM 8. Will be Lewis Stock if Washougal Stock in not available. Washougal Hatchery is used as primary stock, Lewis stock to be used when production goals are not met.

WASHOUGAL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|---------------------|----------|---------|--------------|
| Species: | Coho | Fag Taka | | |
| Run: | Type N | Egg Take | 140,000 | |
| Stock: | WASHOUGAL R 28.0159 | Shipping | 790 | 1 |
| Brood Origin: | MIXED | Received | | |
| Integrated/Segregated: | INTEGRATED | Planted | 108,000 | 7,200 |

Estimated Brood Data

Egg Take Goal 140,000

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-----------------------|--------|-------|---------------------|------------|
| Shipped | 01/2025 | 01/2025 | CITY OF VANCOUVER | 250 | | 0 | EGGS EYED |
| Shipped | 10/2025 | 10/2025 | COLUMBIA SPRINGS COOP | 540 | 800.0 | 1 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------------|
| 05/2026 | 06/2026 | 63,000 | 15.0 | 4,200 | JUVENILE | WASHOUGAL R 28.0159 | AD | |
| 05/2026 | 06/2026 | 45,000 | 15.0 | 3,000 | JUVENILE | WASHOUGAL R 28.0159 | AD | \checkmark |

WHITE PASS JHS HS(RA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-------------------|----------|---------|--------------|
| Species: | Coho | Fac Take | | |
| Run: | Type N | Egg Take | | |
| Stock: | COWLITZ R 26.0002 | Shipping | | |
| Brood Origin: | HATCHERY | Received | 250 | 0 |
| Integrated/Segregated: | SEGREGATED | Planted | 200 | 0 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|-------------------------|--------|-----|---------------------|------------|
| Received | 01/2025 | 01/2025 | COWLITZ SALMON HATCHERY | 250 | | 0 | EGGS EYED |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|------------------------|-----------|--------|
| 04/2025 | 04/2025 | 200 | 500.0 | 0 | JUVENILE | HAMPTON SLOUGHS (GRAN) | | |

WILLARD NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2023 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Coho | Can Taka | | |
| Run: | Type S | Egg Take | | |
| Stock: | COLUMBIA R -MID | Shipping | 437,000 | 18,565 |
| Brood Origin: | MIXED | Received | | |
| Integrated/Segregated: | INTEGRATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage | |
|------------------------|------------|----------|------------------------------------|--------------|------|--------------|-------------|--|
| Shipped | 03/2025 | 03/2025 | BEAVER CR ACCL. POND 45.0751@RM0.8 | 33,000 | 23.0 | 1,435 | JUVENILE | |
| Shipped | 03/2025 | 03/2025 | BUTCHER POND | 107,000 | 23.0 | 4,652 | JUVENILE | |
| Shipped | 03/2025 | 04/2025 | COULTER POND | 65,000 | 23.0 | 2,826 | JUVENILE | |
| Shipped | 03/2025 | 04/2025 | LEAVENWORTH HATCHERY | 35,000 | 25.0 | 1,400 | JUVENILE | |
| Shipped | 03/2025 | 04/2025 | ROHLFINGS POND | 107,000 | 23.0 | 4,652 | JUVENILE | |
| Shipped | 03/2025 | 04/2025 | TWISP ACCLIMATION PD | 90,000 | 25.0 | 3,600 | JUVENILE | |
| Estimated Release Data | | | | | | | | |
| Start Date End Date | e Num Re | lease | FPP Total Pounds Life Stage | Release Site | | Mark | Type Tagged | |

Memo: Shipped to Mid-Columbia Coho Restoration Project. Wenatchee/Methow Acclimation Sites.

WILLARD NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|----------------------|----------|-----------|--------------|
| Species: | Chinook | Fee Take | | |
| Run: | Fall | Egg Take | | |
| Stock: | LTL WHITE SALMON-NFH | Shipping | | |
| Brood Origin: | HATCHERY | Received | 2,200,000 | 2,200 |
| Integrated/Segregated: | SEGREGATED | Planted | 2,000,000 | 22,222 |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received Start Date End Date | | | Facility | Number | FPP | Total Pounds | Life Stage |
|---|---------|---------|--------------------------|-----------|---------|--------------|------------|
| Received | 02/2025 | 02/2025 | CARSON DEPOT SPRINGS NFH | 2,200,000 | 1,000.0 | 2,200 | JUVENILE |

Estimated Release Data

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|----------------------|-----------|--------------|
| 06/2025 | 07/2025 | 100,000 | 90.0 | 1,111 | JUVENILE | LITTL WHITE SALMON R | AD | \checkmark |
| 06/2025 | 07/2025 | 100,000 | 90.0 | 1,111 | JUVENILE | LITTL WHITE SALMON R | | \checkmark |
| 06/2025 | 07/2025 | 1,800,000 | 90.0 | 20,000 | JUVENILE | LITTL WHITE SALMON R | AD | |

Memo: Received from Carson Depot Springs.

Friday, July 26, 2024

WILLARD NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | Total # | Total Pounds |
|------------------------|-----------------|----------|---------|--------------|
| Species: | Coho | Egg Take | | |
| Run: | Type S | | | |
| Stock: | COLUMBIA R -MID | Shipping | 351,000 | 14,618 |
| Brood Origin: | MIXED | Received | 350,000 | 0 |
| Integrated/Segregated: | INTEGRATED | Planted | | |

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

| Shipped or Received | Start Date | End Date | Facility | Number | FPP | Total Pounds | Life Stage |
|---------------------|------------|----------|------------------------------------|---------|------|--------------|------------|
| Received | 12/2024 | 01/2025 | WINTHROP NFH | 350,000 | | 0 | EGGS EYED |
| Shipped | 02/2026 | 04/2026 | LEAVENWORTH HATCHERY | 35,000 | 25.0 | 1,400 | JUVENILE |
| Shipped | 03/2026 | 03/2026 | BUTCHER POND | 33,000 | 23.0 | 1,435 | JUVENILE |
| Shipped | 03/2026 | 04/2026 | BEAVER CR ACCL. POND 45.0751@RM0.8 | 33,000 | 23.0 | 1,435 | JUVENILE |
| Shipped | 03/2026 | 04/2026 | COULTER POND | 65,000 | 23.0 | 2,826 | JUVENILE |
| Shipped | 03/2026 | 04/2026 | ROHLFINGS POND | 35,000 | 23.0 | 1,522 | JUVENILE |
| Shipped | 03/2026 | 04/2026 | TWISP ACCLIMATION PD | 90,000 | 25.0 | 3,600 | JUVENILE |
| Shipped | 03/2026 | 04/2026 | WINTHROP NFH | 60,000 | 25.0 | 2,400 | JUVENILE |

Memo: Shipped to Mid-Columbia Coho Restoration Project. Wenatchee/Methow Acclimation Sites.

WILLARD NFH

U.S. FISH AND WILDLIFE SERVICE

SOUTHWEST WASHINGTON / LOWER COL

| Brood Year: | 2024 | | | | | | Total # | Total Pounds | |
|------------------------|-----------------|-----|---------------------|------------|---------------------|----------|-----------|--------------|--|
| Species: | Coho | | | | | Fee Tele | | | |
| Run: | Type S | | | | | Egg Take | | | |
| Stock: | COLUMBIA R -MID | | | | | Shipping | 351,000 | 14,618 | |
| Brood Origin: | MIXED | | | | | Received | 350,000 | 0 | |
| Integrated/Segregated: | INTEGRATED | | | | | Planted | | | |
| Estimated Release Data | | | | | | | | | |
| Start Date End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | | Mark Type | | |

Memo: Shipped to Mid-Columbia Coho Restoration Project. Wenatchee/Methow Acclimation Sites.